UGC NET 2022 TRIBAL N REGIONAL LANGUAGE

Topic:- 070_SEPT22_S1_PartA
1) Tilka Alanjhi was born on

e wiEht = = = ma
[Question ID = 706][Question Description = 101_70_Tribal_Regional_SEPT22_Q01]
1. 11™ February 1750 A.D.
11 =] 1750 %

[Option ID = 2821]
2. 14% Narch 1760 AD.

14 T/= 1760 2.
[Option ID = 2822]

3. 12% January 1761 AD,
12 s9=1 1761 =.
[Option ID = 2823]

4 13mApril 1751 AD,
13 =it 1751 =.

[Option ID = 2824]

2) Head of each Santal village 1= called

[Question ID = 707][Question Description = 102_70_Tribal_Regional_SEPT22_Q02]
- Mahto

[Option ID = 2825]

i .

HiSl

[Option ID = 2826]
3. Godait

I-IE_ ;i.
[Option ID = 2827]
4. Pahan

PIES]

[Option ID = 2828]

3) ‘Gena Dance is the folk dance of which tribe?



[Question ID = 708][Question Description = 103_70_Tribal_Regional_SEPT22_QO03]
1. Oraon

-

EE]

[Option ID = 2829]
2. Santal

AT
[Option ID = 2830]
3- HD
=
[Option ID = 2831]
4 MNunda
LLED

[Option ID = 2832]

4) (. Revesz was the exponent of which theory of language origin?

I 1 et =l 0 = e o e 4 oo e 0 G

[Question ID = 709][Question Description = 104_70_Tribal_Regional_SEPT22_Q04]

1. Music theory Woo-Woo theory

[Option ID = 2833]
2. Ta-Ta theory
Z1-21 g

[Option ID = 2834]
3. Link (Sampark) theory Contact

[Option ID = 2835]
4. Sigm theory — Gestural theor

3T T

[Option ID = 2836]
5)  Which language origin theory 1= called ‘Ding-Dongvad'?

[Question ID = 710][Question Description = 105_70_Tribal_Regional_SEPT22_Q05]
! Decision theory
[Option ID = 2837]

2. Emulation theory (Imitative theory)

S g



[Option ID = 2838]

3. Reot theory (Ding-Dong theory)

[Option ID = 2839]
4. Expressionist theory (Pooh-Pooh theory)

e -
FAHENEET HET=
[Option ID = 2840]

3

6) ‘Which linguist stated "Expressing thoughts in phonetic words iz language™

‘aTeEE el g AT F WEZ A A W 2 9 Y R AT S w2

[Question ID = 711][Question Description = 106_70_Tribal_Regional_SEPT22_Q06]

1. Sweet

"

Hid

[Option ID = 2841]
2. Wendrive

i A';

[Option ID = 2842]
3. Plato
S
[Option ID = 2843]
4. Aristotal

g

[Option ID = 2844]

7) What is meant by ‘randomize™?

arfEmEA W e B 7
[Question ID = 712][Question Description = 107_70_Tribal_Regional_SEPT22_Q07]

1. Forgetful
el 7

[Option ID = 2845]
2. Az desired or supposed

S =T 7 A EE A
[Option ID = 2846]
3. Memorized
e AT 2

[Option ID = 2847]
4. Emulated

ST AT B

[Option ID = 2848]



8) Dravid and Austro-Asiatic is the language of which?
[Question ID = 713][Question Description = 108_70_Tribal_Regional_SEPT22_QO08]
1. African Block

[Option ID = 2849]
2. American Block

YHTE @S

[Option ID = 2850] _
3. Pacific Oceanic Block

[Option ID = 2851]
Eurasian Block

o @S

[Option ID = 2852]
9) 'Which type of book 1= ‘Bansari ha) rahi’?

[Question ID = 714][Question Description = 109_70_Tribal_Regional_SEPT22_Q09]
1. Related to relhigion

99 H e
[Option ID = 2853]
2. Related to politics

AN o FEgE

[Option ID = 2854]
3. Related to culture

T | T

[Option ID = 2855]
4. Related to Iyrics

e | wEiE

[Option ID = 2856]

10) What is meant by ‘ethnic deseription’”

[Question ID = 715][Question Description = 110_70_Tribal_Regional_SEPT22_Q10]

1. Extensive description of religion

a7 Taege faam

[Option ID = 2857]
2. Extensive description of caste



[Option ID = 2858]
3. Extensive description of culture
; = %

[Option ID = 2859]
4. Extensive deseription of society

[Option ID = 2860]

11)  From which side did the Bhalkti movement wave come?
Wit Sraer i Fe TR AT o a et

[Question ID = 716][Question Description = 111_70_Tribal_Regional_SEPT22_Q11]
1. From South

e 1 AT g
[Option ID = 2861]
2. From North
Entia s
[Option ID = 2862]
3. From East
o
[Option ID = 2863]
4. From Wezt

afran Fi dR H
[Option ID = 2864]

12) Raidas was the disciple of ?

[Question ID = 717][Question Description = 112_70_Tribal_Regional_SEPT22_Q12]
1. Parmanand
THAS

[Option ID = 2865]
2. Ramanand

I IC

[Option ID = 2866]
3. Shradhanand

[Option ID = 2867]

4. Ramanujacharva

[ 2

TTATATEE

f~-

[Option ID = 2868]



1.

13)  Qutban was the dizciple of ?

[Question ID = 718][Question Description = 113_70_Tribal_Regional_SEPT22_Q13]
Sheikh Burhan

E AEE

[Option ID = 2869]

2. Hussain Shah

[Option ID = 2870]

3. Bheikh Muhammad

[Option ID = 2871]

4. Rask

THEE
[Option ID = 2872]

14) Poets of Premmargi branch basieally belong to

THART TG % i g e e o R Y

[Question ID = 719][Question Description = 114_70_Tribal_Regional_SEPT22_Q14]
1. Sagun Dhara

[Option ID = 2873]
2. Nirgun Dhara

[Option ID = 2874]
3. Nath panth

T 92U
[Option ID = 2875]
4. 8iddha panth

oz T

[Option ID = 2876]

15) Vihoweote Ankhis Kulamn'?
‘Tt wem e el T A Y

[Question ID = 720][Question Description = 115_70_Tribal_Regional_SEPT22_Q15]
1. Raskhan

[Option ID = 2877]



2. NManjhan
A
[Option ID = 2878]
3. Usman

FHHA
[Option ID = 2879]
4 Malik Muhammad Javasi

[Option ID = 2880]

16)  Which power gives the famous meaning of word?

b 1= s o= ot gyl

[Question ID = 721][Question Description = 116_70_Tribal_Regional_SEPT22_Q16]

1. Vyanjana

=]

[Option ID = 2881]

[Option ID = 2882]
3. _Abhidha

e o)
[Option ID = 2883]
4. Vakya shakti

T T

[Option ID = 2884]

17) ‘Nanu shabdartho kavvam’ was stated by
i it e e i e e 12 e e o

[Question ID = 722][Question Description = 117_70_Tribal_Regional_SEPT22_Q17]
1. Acharva Dandi

W= 7S

[Option ID = 2885]
2. Bhamah

Hqmz

[Option ID = 2886]

3. Aacharya Mammat
[Option ID = 2887]
4. Acharva Rudrat



r..“

[Option ID = 2888]

18)  What is Santhal police rules 18567

AT qieE FeE 1856 7= R 7
[Question ID = 723][Question Description = 118_70_Tribal_Regional_SEPT22_Q18]
. First enactment after the formation of santhal paragana

[Option ID = 2889]
2. Ttz principal objective was to misguide the santhals

ST Wi 359 Hatel 1 9ZEE 4

[Option ID = 2890]
3. Its basic objective was not to establish relation between the ruler and the people

SHT §e I2Y9 YEE U ST F S e T e 6 A

[Option ID = 2891]
4. Tomake the santhals and pahadiya fisht each other

2 I e | 0 e 2 e b o e

[Option ID = 2892]

19
) What was the Santhal revolt of 18557

1855 =1 HATA [F51E &= 4917

[Question ID = 724][Question Description = 119_70_Tribal_Regional_SEPT22_Q19]

- It was the second stragele waged by the Santhals

[Option ID = 2893]
2. Tt was led by Tilka Manjhi
77 ST51E (e =S F wged § sl 7|

[Option ID = 2894]
3. Tt was the first organized people’s war for power-rule

B B e e o e e e

[Option ID = 2895]
4. Santhals fought this war with guns and artillery
HaTet 4 98 9F A1 Al % w8 A
[Option ID = 2896]
20) Chota Nagpur Tenancy Act was enacted in
FIEATTH, FEAHE S AT S AT

[Question ID = 725][Question Description = 120_70_Tribal_Regional_SEPT22_Q20]
1. 1932 AD



19323 7

[Option ID = 2897]
2. 1949 AD

Lty

1949 2. &

[Option ID = 2898]
3. 1047 AD

1947 . 4

[Option ID = 2899]
4. 1908 AD

19082 1

[Option ID = 2900]
21)  Damin-E-Koh was famous in which region?

TIHEA -5z T & | o @17

[Question ID = 726][Question Description = 121_70_Tribal_Regional_SEPT22_Q21]
Bhagalpur region
AT &3 B

[Option ID = 2901]
2. Santhal paragana region

T T S H

[Option ID = 2902]
3. Chotanagpur region

FHEARTR &9 H

[Option ID = 2903]
4. Kalhan region

Fiear A9 4
[Option ID = 2904]

22) What is meant by ‘Sadar Bapala' custom in the Birhor Tribe?

T W AT AT d W R
[Question ID = 727][Question Description = 122_70_Tribal_Regional_SEPT22_Q22]

1. Love marriage

[Option ID = 2905]
2. Dhuku marmage

ﬁ ia"':ur.

[Option ID = 2906]
3. Traditional marriage



[Option ID = 2907]

4 Child marriage

ElEEEl

[Option ID = 2908]

23) Vedic tradition in ancient times was

WA T H A1 T ] A
[Question ID = 728][Question Description = 123_70_Tribal_Regional_SEPT22_Q23]
1. Generation to generation

[Option ID = 2909]
2. QOral

[Option ID = 2910]
3. Written

et

TefiEd

[Option ID = 2911]
4. Non-written

[Option ID = 2912]

24) What was the name of Kabir's wife?

FAET =T T T A A
[Question ID = 729][Question Description = 124_70_Tribal_Regional_SEPT22_Q24]

1. Go

=i

] £:4

[Option ID = 2913]
2. 16

g
[Option ID = 2914]
Manjol
=¥
[Option ID = 2915]
Gangol
e
[Option ID = 2916]

25)  What was the name of Kabir's contemporary ruler?

[Question ID = 730][Question Description = 125_70_Tribal_Regional_SEPT22_Q25]



- Mehmud Lodhi

[Option ID = 2917]
2. Zaheer Lodhi

[Option ID = 2918]
3. Bikander Lodhi

= =l

[Option ID = 2919]
4 Babar khan

Hi=T =1

[Option ID = 2920]

26) What is the number of paeans in the Rigveda?

S, 35 c [
ERLE B P R s G

[Question ID = 731][Question Description = 126_70_Tribal_Regional_SEPT22_Q26]
1. 1009

[Option ID = 2921]
2. 1013

[Option ID = 2922]
3. 1015

[Option ID = 2923]
4. 1017

[Option ID = 2924]
27) Om' word is a unique feature of which veda?

[Question ID = 732][Question Description = 127_70_Tribal_Regional_SEPT22_Q27]
1. Risveda

2=
[Option ID = 2925]
2. Samveda
[Option ID = 2926]

3. Yajurveda

-

)
= [l
4 st

[Option ID = 2927]
4. Atharvveda

[Option ID = 2928]



28) Who composed "Alkkharvat™
[Question ID = 733][Question Description = 128_70_Tribal_Regional_SEPT22_Q28]
1. Malik Muhammad Jaysi

[Option ID = 2929]
2. Noor Muhammad
o HEHL
[Option ID = 2930]
3. Bheikh-Nak
B )
[Option ID = 2931]

4. Qutban

T

[Option ID = 2932]

29) Tripitak' word 1= related to which religious literature?
REIRe A e o e ke e e e

[Question ID = 734][Question Description = 129_70_Tribal_Regional_SEPT22_Q29]
1. 8had darshan

e

[Option ID = 2933]
2. TUpanizhad

E i

[Option ID = 2934]
3. Puran

[Option ID = 2935]
4. Buddhist hterature
.ii = q|r]='nr-:|'

[Option ID = 2936]

30) The person performing religious rites of khadiyva tribe 15 called

[Question ID = 735][Question Description = 130_70_Tribal_Regional_SEPT22_Q30]
1. Diwan

~

[HE]

[Option ID = 2937]



2. Ralo

[Option ID = 2938]

3. Deum

&3
[Option ID = 2939]
4. Pghaan

T=M
[Option ID = 2940]

31)  Which is the language wherein Bride price (Vadhu mulya) is called ‘Kuri Gonong'™?

‘T geg O AT A T w2

[Question ID = 736][Question Description = 131_70_Tribal_Regional_SEPT22_Q31]
. Munda language
HUS] {91

[Option ID = 2941]

2. Kharia language
.ﬁm—“r == T
[Option ID = 2942]
3.

Oraon language
ESER I

[Option ID = 2943]

4. Holanguage

1 gm

[Option ID = 2944]

32) Who is the author of Introduction to the Kharia Language™

‘TETEHIA T T @S] g A & oEE hg 2

[Question ID = 737][Question Description = 132_70_Tribal_Regional_SEPT22_Q32]
. Gaganchandra Banerjee

THE=% Elil,ﬁ

[Option ID = 2945]

2. Kardon L.S.J

FISH TS

[Option ID = 2946]
3. Wiligin

F e O
=

[Option ID = 2947]



4. H.J. Pinno

T, A T

[Option ID = 2948]
33) Who wrote the khortha poem “Mati aur sanskriti™?

A FieAl A A0 HEFA & A HE 87

[Question ID = 738][Question Description = 133_70_Tribal_Regional_SEPT22_Q33]
1. 8hivnath Pramanik

o T
[Option ID = 2949]
2. Dw. Parasnath Mahto

=1, UREATS HaAl
[Option ID = 2950]
3. Dr. Binod kumar

[Option ID = 2951]
4. Shanti Bharat

[Option ID = 2952]

34) Which khortha poet composed Raghuvar Vinay?

[Question ID = 739][Question Description = 134_70_Tribal_Regional_SEPT22_Q34]
1. Padam Das

[Option ID = 2953]
2. Raja Rudra Singh

[Option ID = 2954]

3. Raja Ganga Narayan Singh
[Option ID = 2955]

4. Dalel singh

[Option ID = 2956]
35) Dhani Ram Baksi was a poet of

[Question ID = 740][Question Description = 135_70_Tribal_Regional_SEPT22_Q35]



1. Modern period

T it

[Option ID = 2957]
2. Medieval period

egqaie]
[Option ID = 2958]
3. Ancient period
T FE
[Option ID = 2959]
4. Renaisance period

[Option ID = 2960]
36) Mahant Ghasi Ram was a poet of

U ST T R 99 F R a7
[Question ID = 741][Question Description = 136_70_Tribal_Regional_SEPT22_Q36]
1. Kahir Sect
[Option ID = 2961]
2. gZiddha Sect

Tag Ty
[Option ID = 2962]

3. Nath Sect

EIE R
[Option ID = 2963]

4. Bhairon Sect
1 99
[Option ID = 2964]
37) What 1s the title of the first Kurmah novel?
FTOTAT o WY IR T A = e Y

[Question ID = 742][Question Description = 137_70_Tribal_Regional_SEPT22_Q37]
1. Jingik Toh

[Option ID = 2965]
2. Bhagjongni

-~

[Option ID = 2966]
3. Parek Lagne Biha



[Option ID = 2967]
4. Gandhik Jai

mdE 7=

[Option ID = 2968]

38) What 12 the name of the peet who compozed "Bhuza Kutaite Nar, Bizralai Harthar™

"':gIn =_1'-;-:;:1 9, TamreTs BhE — 0 T i 9 e B

[Question ID = 743][Question Description = 138_70_Tribal_Regional_SEPT22_Q38]
1. Binand Singh

[ i

[Option ID = 2969]
2. Duryvodhan Das

e T

[Option ID = 2970]
3. Bhav Prita Nand Ojha

iy ST
[Option ID = 2971]

4. Brajuram Tanti

[Option ID = 2972]

39) When was the book ‘Kudukh Bachna gahi munta pothi” published?

[Question ID = 744][Question Description = 139_70_Tribal_Regional_SEPT22_Q39]
1. 1947-48

[Option ID = 2973]
2. 1940-41

[Option ID = 2974]
3. 1938-39

[Option ID = 2975]
4. 1940-42

[Option ID = 2976]

40) Who 1s the author of Pachparagniva Bhasa Sahitva evam Sanskrit1’?

T ST HI(Eed U BER & o A 2

[Question ID = 745][Question Description = 140_70_Tribal_Regional_SEPT22_Q40]
1. Paramanand Mahto



[Option ID = 2977]
2. Karamachandra Ahir

[Option ID = 2978]

3. Karamchandra Ahir and Paramanand Mahto
[Option ID = 2979]

4. Dr. Chandramchan Mahto

[Option ID = 2980]

41)  Which type of place is ‘Akhda™?

{A)  Alkhdais a danee place

(B) Alkhda i= a place to sleep
(C)  Alchda 1s a panchayvat place
(D)  Akhda i= a battle place

Choose the appropriate answer from the options given belaw :
‘wEs E TN W T AT
(A)  I7EE UF T T4 7
(B)  sHgSI °H F 24 2
(C)  Fras 9uEd =2 7
(D) s T e e

(E) 73Sl 93 =0 &

4= fon T TEEeT 5 0 wE 39 W 99 S

[Question ID = 746][Question Description = 141_70_Tribal_Regional_SEPT22_Q41]
- (D) and (B) only

Fae (D) 4R (B)

[Option ID = 2981]
2. (A) and (C) only

FA (A) # W (C)
[Option ID = 2982]
3. (D) and (E) only

3= (D) #1 (E)

[Option ID = 2983]
4. (B) and (A) only

A (B) #7 (&)

[Option ID = 2984]



42 F
) What 1= a metre?

(A) Composition having regular number of Varna or matra

(B) Similarity between word and meaning is considered as metre

(C) Metre is the organised form of matras and varnas

() A poetic composition created according to rules related to Alkshar, Matra, Ganana and

Yati Gatl ete.

(E) Harmony between two different types of matter 1= established
Choose the appropriate answer from the options given below ;
(A) T A TAEE 9 wYEr 5 ) A HEEE w6 e e

(B) I 37 @Y TET F SR4TE W R S °E T 2

(C)  HET=Nl 377 =01 H Fanan =9 9 2

D) . BEL, AN G- A FEian FEE | HAiaT g6 = g Sl 2

(E) == 97 9 w5l 8 Ames w0 e w2

4= o T o § O W 59 W 99 S

[Question ID = 747][Question Description = 142_70_Tribal_Regional_SEPT22_Q42]
- (A). (C) and (D) only

Fae (A), (Q) 37 (D)

[Option ID = 2985]
2. {A). (B) and (C) only

Fae (A). (B) #1 (C)

[Option ID = 2986]
3. (B). (D) and (E) only

= (B), (D) 31 (E)

[Option ID = 2987]
4. (A). (D) and (E) only

Fad (A). (D) =1 (E)

[Option ID = 2988]



43) . : . . S
There 1z absence of embellishment (Alankar) planning in folk songs

(A) Folk songs are absolutely free and unorthodox
(B) Fuollz poet does not bother about embellishment
{0 It does not have any artificiality

(D) Embellishment 1s the tendency of the plan

(E) Embellishment iz displayed

Choose the most appropriate answer from the options given helow :

HAFF-TA] § >5FA I3 F1 J99 54 27

(A)  E-TE B T 99 et B B
(B) @ TH—Fa SFE F 395§ 99 T2

(C) 5o FEEm F 947 FH T

(D)  SE AT i wai 7 2

(E) 3701 1 9TE-TRTH 7 A7

I oo T Towel B @ o9 39 1 =99 Fien

[Question ID = 748][Question Description = 143_70_Tribal_Regional_SEPT22_Q43]
1. (A), (B) and (C) only

Fa9 (Al (B) #w (O)

[Option ID = 2989]
2. {B). (C)and (D) only

4= (B), (C) 37 (D)

[Option ID = 2990]
3. (C). (D) and (E) only

Fa= (). (D) # (E)

[Option ID = 2991]
4 {A). (B) and (D) only

Fae (A). (B) 3T (D)

[Option ID = 2992]



44)

What 1= folk play?

(A) Elements of folk acting arve present

(B) Language of folk plays 1s very simple
(C) These are closely related to the folk-hfe
(D) These are performed in times if grief
(E) Conventional performance is presented

Choose the most appropriate answer from the options given below

R e W 2 7

(A)
{B)
(c)
(D)

(E)

AF—AET | 9 THE TR 2

43 fou T fEeT § @ WA T =99 HiAn

[Question ID = 749][Question Description = 144_70_Tribal_Regional_SEPT22_Q44]
1. (A). (B) and (D) only

Fa9 (A). (B) A1 (D)

[Option ID = 2993]
2. {A). (C) and (E) only

F4e (A), (C) 31 (E)

[Option ID = 2994]
3. (B). (C) and (D) only

= (B), (C) =7 (D)

[Option ID = 2995]
4. (A). (D) and (E) only

a5 (A), (D) =7 (E)

[Option ID = 2996]

45)

What 18 the form and content of imagination is western poetic thought

(A)
(B)
(€)

(D)
(E)

Mind of creative person 1s the reflection of the creative power of the creator of world
Imagze a type of word pleture which 1z created by inagination

It iz the fundamental cause of entire human knowledze
Life problems experenced are not projected

Simple elements of mind are not exposed 1n imagination

Choose the most appropriate answer from the options given helow



I - - -
T IR 900§ Fedd] &1 =T 310 SN =] ¢

(A) TSI HEE B W S WO STE W A aeee
(C) == 9999 9FE-TTF I 0 FEF 2
(D)  ¥AYA SE-FgE wEmT T8 7

(E) o1 8 54 F s 7 S5uEA T4 76 7

[Question ID = 750][Question Description = 145_70_Tribal_Regional_SEPT22_Q45]
1. {A). (B) and (D) only

#ae (A), (B) #it (D)
[Option ID = 2997]
2. (A). (B) and (C) only
Fa= (A). (B) 31 (C)
[Option ID = 2998]
3+ (B). (C) and (D) only
F4 (B). (C) #1 (D)
[Option ID = 2999]
4. (C). (D) and (E) only
Faet (C), (D) 57 (E)

[Option ID = 3000]

46)  What is the significance of the Rigveda for sociclogical studies?

{A) Rigveda 1s extremely important from the sociclogical point of view
(B) It 1= a collection of prosaic mantras used for Yagna-ceremonies

(C) Rigveda i1s used by Udgaata at the time of vagna, etc for rendition of Udgeet’
(D) Rigveda contains mantrag for killing. uchhatam, hypnotising. etc the enemies

(E) It carmes a description of the ancient social organisation. living style. attire and
economic political svetem of the Aryvans

Choose the most appropriate answer from the options given below



FHIEEE F5FAA 5 | 0 A 9 A ¢

(A)
(B
()
(D)

(E)

TS AR 52 A AAn Fows A A 7
S e Y A i 3. .8
s § I WA, I, TE e & 6 2

THH ST F U AEAE H0A, T -HE, 99901 HNEE 5G] AT e w0 R

= Tom o Tt § @ = 39 =9 i

[Question ID = 751][Question Description = 146_70_Tribal_Regional_SEPT22_Q46]

1.

(Al and (D) only

Fa4 (A) 37 (D)

[Option ID = 3001]
2. (B).and (C) only

T+ (B) 57 (C)

[Option ID = 3002]
3. (D) and (E) only

Fa= (D) =7 (E)

[Option ID = 3003]
4. {A) and (E) only

Fae (A) = (E)

[Option ID = 3004]

47) Why are riddles asked?

(A)
(B)

(C)
(D)
{E)

Because of the qualities of simplicity, zest and sweetness

For testing someone’s intelligence
For knowing life guiding experiences
For entertainment during holidays

For malking the future life complete

Choose the appropriate answer from the options given below



URTET T G S A

(A)  FESE, THEEAL, T S0 0

(B) T F afz F v s F o

(C) =" = 99—TeIE i A e T o
(D) SR & SEE W AT A R e

(E) W= =4 F 991 59H & T@n

E i BT 8 2 2 et e = e i s e 1 e e

[Question ID = 752][Question Description = 147_70_Tribal_Regional_SEPT22_Q47]

1. (A) and (C) only
e (A) #A7(C)
[Option ID = 3005]

2. (Byand (D) only
== (B) A7 (D)
[Option ID = 3006]

3. (B) and (E) only
F= (B) 417 (E)
[Option ID = 3007]

4. (C) and (D) only
Fas (C) 3 (D)

[Option ID = 3008]

48)  What type of social organisation does the Mal pahadiva primitive tribe have?
(A) Mal pahadiva iz divided in many totem gotras
(B) Generally the Mal pahadiva family 1s unitary
(C) They are engaged in shifting cultivation in the paat region on hills

(D) In the absence of gotras. family carries Immense social importance amongst Mal
pahadivas
(E) Village has a traditional panchayat and the head 1= called Mahto

Choose the most appropriate answer from the options given below



.~

c - - R T
HIeT TRli=a1 HiGH Sl @ GETS Sq=a] HEl A 7

(A) | TEISAT FE 2P M ° AT B

(B) 1 U= THER U4 U AR
(C) UFTE F FW 97 &9 § 3 SRR =@E F A
(D) =T TEiE 6T F e B iR F aE S g vhe

(E)  Tid § TR T=EA 2l A TS gigAl gaal Feel

Hi9 fou T fEEeal | ° HE 3 #9499 FiEn

[Question ID = 753][Question Description = 148_70_Tribal_Regional_SEPT22_Q48]
1. (A) and (E) only

FA9 (A) W (E)

[Option ID = 3009]

2. (B) and (C) only

Fa= (B) 7 (C)
[Option ID = 3010]

3. (B) and (D) only
Fg=l (B) =0 (D)
[Option ID = 3011]

4. (D) and (E) only

Fa= (D) #7 (E)

[Option ID = 3012]

49) Salient features of hindi poets of the Bhalti period

{A) poets belonging to the bhakti period nourished the values of eternity, sacredness and
heauty bezides promarily being the discoverer of truth

(B) created the poetry of the brave against attack on the country and tyrants

(0 poets of thiz period 1dentified themselves as feudal and casteist posts

(D) besides being true retreatants. they were knowledgeable. interpreters and publicists of
Indian culture

(E) Writingz of the poets belonging to this period is extremely mature from the point of
sentiments. lanzuage. embellishments and Nayika Bhed

Choose the most appropriate answer from the options given helow



rlr: ‘.' H i"ﬂq %ﬁ r‘rlﬁ’z ;;'I 7 ':frpia %-F'E" %;

(A)  AFFFEE FE g 559 F A= F WY T F G9 § A, TEA A G e F

oF A

(B) 59 W SGEET SR A= o A 5 =i e g e

(C) =9 F19 =+ FEE1 3 Tl FT AEE FE 2H F u9ET B

(D) | T HSF EE F FH-HY GEAE AR e, S i =

(E) =0 %11 F Fiaa] H FMA 99, 9, TR0 A6 Aiaw 95 F 5w ¥ e i E

4= 50 70 feweal B 9 "Rl 390 5 95 FI0A0

[Question ID = 754][Question Description = 149_70_Tribal_Regional_SEPT22_Q49]

1. (A) and (C) only
FAE (A) 3 (C)

[Option ID = 3013]
2. (C)and (D) only

e (C) #(D)

[Option ID = 3014]
3. (D) and (E) only

= (D) #Ar (E)

[Option ID = 3015]
4 (A) and (D) only

Fa= (A) #HiT (D)

[Option ID = 3016]

50)
What 1= the objective of poetry according to Jaishankar prasad?
{A) ohjectives of poetry 1s expreizon alone and nothing more
(B) poetry has an independant soclety. neutral existence

(C) in poetry. the perception of poet cannot altogether he neutral from the hving world

{D)  existence of poetry is relative to the society. it 1z not fully independance

(E) poetry is for escape from life

Choose the appropriate answer from the options given below



(A) T T R AN A6 e eE T A A
(B) =4 ] v A HEE-E AR
(C) =3 ° Fia 1 FAYE =4 0 F FEG 0 TE A JAt

(D) A T A HET "NAE 2, °F YU wEed A 7

(E) 1= S5 | WA W e 2
4= fou e fEweT § 5 O I o =9 i

[Question ID = 755][Question Description = 150_70_Tribal_Regional_SEPT22_Q50]
- {A)and (C) only
Feet (A) 37 (C)

[Option ID = 3017]
2. (A) and (D) only

T (A) 7AW (D)
[Option ID = 3018]
3. (B) and (D) only
F=7 (B) =7 (D)

[Option ID = 3019]
4 (@) and (E) only

Fae (C) #HE (E)

[Option ID = 3020]

51)  What is the folk music of Jharkhand?

(A Folk music makes the pleasure of hife boundless and eliminates grief.

(B) Follkk music 1= a product of modern times.

(G Folk music has participation only of males.

() Follkk musiec drives away greed and desive and feeling of victory and enthusiasm gets
multipled hundred times.
(E) Folk music 15 net appreciated amongst majority of people.

Choose the appropriate answer firom the options given below



TS ] AE-EA = AT

(A) - SfE ® ST F S wOoAT ¢ A1 5 A

(B)  F-TE ARE T # oA

(C) =rF-TE | T e A w2

(D) =% - T H A GO0 TR = A 2, 941 @ v IeaiE 6 A e

(E) % - T steee =i o 5 o T4
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[Question ID = 756][Question Description = 151_70_Tribal_Regional_SEPT22_Q51]
1. (A) and (D) only

Fae (A) #1(D)

[Option ID = 3021]
2. (A) and (C) only

Fae (A) 377 (C)

[Option ID = 3022]
3. {B)-and (D) only

Fae (B) A7 (D)
[Option ID = 3023]

4 (C) and (E) only
Faet (C) #1 (E)

[Option ID = 3024]

52)  What type of organisation is patta?
(A} Manaki 1= the head of patti
(B)  All these villages quite of ten do not belong to the same lah
(C) People belonging to pattl are warriors
(D) Generally a union of ten to tweleve villges is called patti

(E) Diwan 1s the head of patta

Choose the most appropriate answer from the options given below



T2 T T e

(A)  =E 1 TaE g A R

(B) =l 7T TR F Al F AR =] 2

(C) 75 F = =S B B

(D) W TH H OWE A % A9 R g Fed A

(B)  uZ1 =1 1aW 2@ =i 7

B 15 IR L0 o v = e o e e 2 o 0 Ll

[Question ID = 757][Question Description = 152_70_Tribal_Regional_SEPT22_Q52]
1. (A) and (E) only

Fae (A) HW(E)

[Option ID = 3025]
2. (C) and (B) only

= (C) #7 (B)

[Option ID = 3026]
3. (B) and (E) only

#= (B) 1 (E)
[Option ID = 3027]

4. {A) and (D) anly

Fa (A) 31 (D)

[Option ID = 3028]
23) Amongst the munda tribe, a husband deszerts his wife because of following reasons

(A) Exceszive dancing

{B) On becoming mother of more than one child
(C) On being characterless

(D) On being infertile

(E) On working in fields

Choose the most appropriate answer from the options given below



TR FE J HUST FHAAG F TG ST T T

(4A)
(B)
(C)
(D)

(E)

FEA T A T

wF T s = 5w T
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[Question ID = 758][Question Description = 153_70_Tribal_Regional_SEPT22_Q53]
1. (C)and (D) only

Fae (C) 47 (D)

[Option ID = 3029]
2. (A) and (B) only

T (A) 97 (B)

[Option ID = 3030]
3. (D) and (E) only

T (D) #A (E)

[Option ID = 3031]

4. (C

) and (B) only

e (0) A1 (B)

[Option ID = 3032]

54)

Chota Nagpur tribals in the Andaman were labourers in jungle and not in office
(A) Because illiterates were appointed 1n office

(B) In 1950-1960 there were only a handful of educated tribals

(C) There was no discrimination of appointment

(D) Educated class did not come forward for office work

(E) Government was providing jobs to educated triabls

Choose the appropriate answer from the options given below



ATEAE A DEATIH A AR 8 T6, ates e § g 4
(A) = TR SEE F e 1 Ers w9

(B)  1950-1960 ¥ SA-TF sAriqandl fFriea 41

(©) T o g—am" 771 = 41

(D) TR FE F e e 1 qa g

(E)  TTFW WIE AlearsE F A TE il

i fov 7o Taweal O ° wE T % 589 i

[Question ID = 759][Question Description = 154_70_Tribal_Regional_SEPT22_Q54]
- (A) and (B) only

F9 (A) 317 (B)

[Option ID = 3033]
2 (B) and (D) only

Fe (B) # (D)

[Option ID = 3034]
3. (D) and (E) anly

Fae (D) A7 (E)
[Option ID = 3035]
4. () and (A) only
Fae (C) 31T (A)

[Option ID = 3036]

55) What tvpe of book iz Munta pump jhumpa'?

(A It is a prose fext
(B) It is a Iyrieal text

(C) It iz a poetic text
(D) Ttis astory book

(E) It was published 1n 1950 AD

Choose the appropriate answer from the options given below



(A)  =F TR T A
(B) =& daTE T 2
(C) T TEg® 5E Al
(D) T FEAHE TF A

s 3

(E) == 1950 5. ° wiiem =5 2

H= fov m faFeT § | T I T 99 i

[Question ID = 760][Question Description = 155_70_Tribal_Regional_SEPT22_Q55]
1. (D) and (E) only

=+ (D) 57 (E)
[Option ID = 3037]

2. (B) and (C) only
== (B) 91 (C)

[Option ID = 3038]
3. () and (E) only

Fa& () 317 (E)
[Option ID = 3039]

4. {A) and (B) only
Fae (A) 377 (B)

[Option ID = 3040]

56 : . .. 3
) ‘What 12 the hasis of Religious Philosophy?

(A Concept of soul has been the basis of religious philosophy right from the primitive

humans to the civilized human beings

(B) Soul ceases to exist after death

() Human beings do not look at soul with respect
(D) Psychizm or animism is the basis of religious philosophy
(E) Human beings remain alive fill the invizible force remains in the body

Choose the appropriate answer from the options given helow



SH-TI F AW o4 R

(A) ST SRR e aEE # S A5 O F 9 % a9 S 2
(B)  =EH SARA g3 F W A2 7 5 2

(C) == S F AG1 1 32 | A o 2

(D)  HATHEER 9 AEEE E 9 $ 59 B 9En 2

(E) 579 9w & T00 5 75 A% A Fiaa w2
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[Question ID = 761][Question Description = 156_70_Tribal_Regional_SEPT22_Q56]
1. (A) and (D) only

Fae (A) w0 (D)

[Option ID = 3041]
2 (B)and () only

Fae (A) =@ (D)
[Option ID = 3042]
3. (Q) and (D) only
Fae (C) 37 (D)

[Option ID = 3043]
4. (D) and (E) only

a7 (D) =7 (E)

[Option ID = 3044]

37)  What is meant by humour?
{A) Humour takesz one away from others
(B) Humour brings one closer to others

(C) Humour has lots of fun jokes
{D)  In-laws do not openly engage In fun-jokes

(E) Fun-jokes do not lead to sweet relations

Choose the most appropriate answer from the options given below



TR o AT =AY

(A)  TiEg uF T A o A A

(B)  Oitem W I F weAiae e S

(C) =iz § =rfl wHi-warF #1 %2 wdl 7
(D) WEE-HAGT F S FH WA A w A

(BE) FHI-T9TF § 99 T T 6 A A
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[Question ID = 762][Question Description = 157_70_Tribal_Regional_SEPT22_Q57]
1. {A) and (D) only
Fae (A) 30 (D)

[Option ID = 3045]
2. (B)and (0 only

=5 (B) #7 (C)
[Option ID = 3046]
3. (D) and (E) only
#a= (D) =0 (E)

[Option ID = 3047]
4 (A) and (C) only

e (A) 377 (C)

[Option ID = 3048]

58) There are two major difference of Ballad.

(A) According to size

(B) Accordint g6 type

(C) According to distortion
(D) According to subject

(E) According to the eweetness

Choose the most appropriate answer from the options given below



S AT W 51 95 T A B
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(B) W F A

(€ T FigEal
(D) T H A
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[Question ID = 763][Question Description = 158_70_Tribal_Regional_SEPT22_Q58]
1. (A) and (B) only
4 (A) A1 (B)

[Option ID = 3049]
2. (D)and (E) only

&+ (D) #1 (E)

[Option ID = 3050]
3. (Byand (C) only

Fae (B 3117 (C)

[Option ID = 3051]
4. (A) and (D) only

F9 (A) A (D)

[Option ID = 3052]

59 . .
) Proverbs are said to he the volee of common people

(A) Proverbs are said to be the follk voice.
(B} Proverbs are said to be the children voice.
(C) Proverbs are 2aid fo be the voice the educated people.

(D Proverbs are =aid to be the voice of common people.

Choose the most appropriate answer from the options given below:



(A) eI HOATE WAl FaAl AR
(B)  FmrEal W= R g Fal e

(D) FErEEl o TGS S R A R A R

A= Teu 70 Tae] § O T2 I R =99 FiA

[Question ID = 764][Question Description = 159_70_Tribal_Regional_SEPT22_Q59]
1. (A) and (B) only

a5 (A) 37 (B)

[Option ID = 3053]
2. (A)and (C) only

FaE (A) 3= ()

[Option ID = 3054]
3. (A) and (D) only

Fad (A) =0 (D)

[Option ID = 3055]
4. (C) and (D) only

Fam (C) 7 (D)
[Option ID = 3056]
60) How does the skill development of artists take place?
{A) By birth of artist
(B) By artistic practize of the artist
() Br mental distortion of the artist

(D) By the studiousness of the artist

Choose the most appropriate answer from the options given below

(A)  FFE F o H

(B) FEATFN o FATER S H|
(C) e % T e

(D) AT T SSEEAE O

0 Tt LU £ ot == = 3 e Tl o e o e 1 - L




[Question ID = 765][Question Description = 160_70_Tribal_Regional_SEPT22_Q60]
. (A) and (D) only

Fa9 (A) =7 (D)

[Option ID = 3057]
2. (B)and (D) only

Fae (B) @91 (D)

[Option ID = 3058]
3 (B) and (C) only

Fad (B) #1 (C)

[Option ID = 3059]
4. (A)and (B)only

Fa (A) 3T (B)

[Option ID = 3060]

61) What role did the Santhals play in the Quit India Movment?
(A) Mundas too participated in the Quit India Movement
(B) Santhal tribe was more active in the Quit India Movement
() Quit India movement was only for the Santhals

(D) Santhal tribe had always been fighting against exploitation
Choose the appropriate answer from the options given helow
‘qrE WISl WEEE § SAne] 5 FE] g e

(A) ‘amd @rsl AECEE H gUEiEAl 4 69 /g e

(B)  “gWd FEl A=A 5 G@ar S0 9e] 9 i
(C)  ‘qum el A A TANeEl e A

(D) A= SHANE A9 F EEg #E | Ase—asdl 1w Al

R e s e e o e e o =0 e L

[Question ID = 766][Question Description = 161_70_Tribal_Regional_SEPT22_Q61]
1. (A) and (B) only
FA (A) W (B)

[Option ID = 3061]
2. (B) and (D) only

= (B) 3 (D)

[Option ID = 3062]
3 (B) and (C) only



Faa (B) =7 (C)

[Option ID = 3063]
4. (0) and (D) only

Fa= (C) 3 (D)

[Option ID = 3064]

62 ; ] P 5 = . ;
) Eiyishna devotional poetic stream of which Nagpuri poets has come to hght as a vesult of

research conducted by Dr. B.P. Keshari and Dr. Shrvan Kumar Goswami

(A) Hanuman sigh. Diler singh. Kailash Sungi. Evishna Ealadhar

{B) Hanuman Singh. Braju Bam. Jai Govind Mishra. Sobran Sayve

(C) Brajan Bam. Madhu Mansur: ‘Hansmukh', Mukund Naik, Ezhitij] Eumar Rai

(D) Sobran saye. Thakur Prasad. Ghasiram. Dhani Ram Bakshi
Choose the most appropriate answer from the options g_i\*en below

=1 M. FIE W S AW FAE TREEE F SIEE B 5 FeE F e i FO 95 e 9n O
=T 7

(B)  =I9F AR, ¥5 W, TATES 9, 5 A

(C) 79 7", 99 55, 7EgE, 5 A9, [@id FEY

(D) T IE, 2T TEE, 9T, o4 e

= fau m fawedl § 0 o3 39 %1 =99 S

[Question ID = 767][Question Description = 162_70_Tribal_Regional_SEPT22_Q62]
1. (B) and (D) only

Fad (B) 317 (D)

[Option ID = 3065]
2. {A) and (C) only

a9 (A) #Ji1(C)

[Option ID = 3066]
3. (C) and (D) only

waet (C) # (D)
[Option ID = 3067]

4. (A) and (B) only
Fae (A) 317 (B)

[Option ID = 3068]



63)  Tradition of Khortha standardised literature is supposed to have begun with Raja Dalel

Singh. What was the poetic trend at that time?

(A) Aesthetics, Self realisation. deseription of make up
iB) Religion, Action. devotion to God

(C) Power display. Bhatgivi, Rajgaan

(D) Bhaktikalin, Dharmik, Ritikalin

Choose the most appropriate answer from the options given below

Ee e e e e i e e e A R e e e e e e e e e e

(A) =i FE, T, S T
(B) =, 39y, WEH U
(C) oI wEeE, HIEITR, T

(D) afF F=E, aiiE, e

e fom T Tt # B A I A = A

[Question ID = 768][Question Description = 163_70_Tribal_Regional_SEPT22_Q63]
1. (B) and (D) only

#ad (B) 9117 (D)

[Option ID = 3069]
2. (A) and (B) only

Fae (A) =7 (B)

[Option ID = 3070]
3. (B) and (C) only

Fae (B) 30 ()

[Option ID = 3071]
4 (C) and (D) only

Fad (C) =1 (D)

[Option ID = 3072]



64) On the Sarhul day. Boys go out to the Don or mver in the mornine to catch which of the
following?

(&) Crab

(B)  Small snail
(C)y  Fish

(D Heron

Choose the most appropriate answer from the options given helow

TTER T T TR B TF A1 9] 0T W TR =TS T e B

{ A_} -EFJ E =3 T—I‘%l

(By = =
(Cy el
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[Question ID = 769][Question Description = 164_70_Tribal_Regional_SEPT22_Q64]
1. (A) and (B) only

Fae (A) #J0 (B)

[Option ID = 3073]
2. (B) and (C) only

a1 (B) #1 (C)
[Option ID = 3074]

3. (C) and (D) only

T (C) W (D)

[Option ID = 3075]
4. (4) and (C) only

FAE (A) 37 (C)

[Option ID = 3076]



65) _ _
What 1= done at the time of ‘Chathi Sanckar of a new born child?

(A) Mundan ceremony is held on the day of chhathi for the child
(B) Parents of the child observe fazt on the day of chhathi
(C) Child 1= given bath on the day of chhathi

(D Parents do not take bath on the day of chhathi
Choose the most appropriate answer from the options given helow
T T g E DA WERE § 9= A A

(A) = F A == g A A
(B) =3 % 19 == o A —19A] 39 TE A
(C) B3 F e == =1 =7F F4=] 701 2

M) A F 7w = A e A

i T 8 B | e e e Ll o D B o Ll

[Question ID = 770][Question Description = 165_70_Tribal_Regional_SEPT22_Q65]
1. (A) and (B) only

Fae (A) H (B)

[Option ID = 3077]
2. (B) and (C) only

Fa= (B) 97 (C)
[Option ID = 3078]

3. {A) and (C) only
Fael (A) =0 (C)
[Option ID = 3079]

4. (C) and (D) only
Fa (0) 30 (D)

[Option ID = 3080]



66)  NMatch List I with List 11 ;

List I List II
Author Works
{A) Tulsidas (I} Nrigavati
{By Maluk Das (I} Geetawali
{C) EKabhir Das (III} Gyanbodh
(D) Quthan {(IV) Beejak

Choose the correct answel from the options given below ;

FH-IF WY = T e i

=11 =11
(A) TFEEEE (D FmEa
(B) #Heph oA (IT) st
(C) =W THE (IIT) ST
(D) T (IV) ==

4= o T e | H wE 39 F 99 FE
[Question ID = 771][Question Description = 166_70_Tribal_Regional_SEPT22_Q66]
1 (AIL. (B)-(IID). (C)-IV). (D)-(I)

[Option ID = 3081]
2. (A)(IID. (B}-(D. (C)-AD). (D)-(IV)

[Option ID = 3082]
30 (AT (B)-(ID), (C)-(IOT). (D)-(IV)

[Option ID = 3083]
4. (A)-(IV). (B)-(IID), (C)-(ID), (D)-(I)

[Option ID = 3084]

67) Match List T with List T :

ListI List IT
Language Family
(A) Nagpu Iy Austric
(By Mundam (I} Dravid
(C) Maor: (ITI) Avyan
(Dy Malto (IV) Polinesian

Chaoose the correct answer from the options given below :



e sl

ur qiraw
(Ay FrEd (L) e+
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(C) (ITD) =7

(D) WA (IV) e
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[Question ID = 772][Question Description = 167_70_Tribal_Regional_SEPT22_Q67]
T (AMID), (B)-(II). (O)-(D. (D)-(IV)

[Option ID = 3085]
2. (A(II), (B)-(I), (C)-(IV). (D)-(ID)

[Option ID = 3086]
30 (AT (Bi«(ID. (C)«(IID). (D)-(TV)

[Option ID = 3087]
4. (Ap(IT), (B}(IV). (Ci-(1), (D)-(IIT)

[Option ID = 3088]

68) Nlatch List I with List IT :

ListI List IT

Theorist Theory
(A) Grm (I) Casteism
{B) Schlegel (IT) Theory of coordination
(C) Stenthel (ITT) Theory of community
(D) Upadhyay (IV) Individualism

Choose the correct answer from the options given below :
Fe1-1 % 1Y 1 ge-11 e i

L 111
(A) T g () IiEEE
(B) e TG (II)  =F==aT
(C) === 7 = (IIT) =gEFaE
(D) I T Eo (IV) =g

#ra o oo § g wE T w 9Es e
[Question ID = 773][Question Description = 168_70_Tribal_Regional_SEPT22_Q68]
1. (A)(IID). (B)-(IV). (C)-(I). (D)-(1ID)

[Option ID = 3089]
2. (A)-D). (B)-(II). (C)-(IID. (D)-(IV)



[Option ID = 3090]
3. ATV (Bj-(II0). (Ci=(II). (In-(T)

[Option ID = 3091]
4 (A)AID, (B)-(D). (C-(IV). (D)-(T1T)

[Option ID = 3092]

69)  Match List I with Lizt IT :

Tast T
Author

(A) Dr. HN. Singh

{B) Dr. Mansiddh Badayud
(C) Dr. Bhuvaneshwar ‘Anuj’
(D) Shivnath Pramanik

List IT
Work
(I} Nagpuri Lok Sahitva
{II} Sevatl Khortha Geet Sangrah
(III) Mundakoa : sona kajiko
(IV) Eurmali lok kathaon ki kathanak rudhivan

Choose the correct answer from the options given below :

11 w2 = gL e =i

L s e A M o e e 02 B o o e 3
=1 FEIL
a e - A s

(A) 31 74, 1. @8 (Iy 7T SATH-HI=A

(B) TI. WOz u=EEg (1D TEnH =T T 19uE

(C) 31 wHer ‘aa (I HOSTRIE: JET HE

(D) Teraens wEToEE (IV) et =06 Fa1s] 51 w40 Feal
A= fev 7 e 4 9 o 39 w1 =994 hian

[Question ID = 774][Question Description = 169_70_Tribal_Regional_SEPT22_Q69]
T (A)-(I). (B)-(ID), (C)(IID). (D)-(IV)

[Option ID = 3093]
2. (A)-(III). (B)-(IV). (Cy-(ID). (D)-(I)

[Option ID = 3094]
30 (AIV). (BYAIII), (C)-{T). (D)«(IT)

[Option ID = 3095]
4. (AI(ID), (B)-(I), (C)-(IV), (D)-(IIT)

[Option ID = 3096]



70) Match List I with List IT :

(A)
(B)
(C)
D)

TastI
Author

Dr. Giridhari Ram Gounjhu

Dr, Bhuvaneshwar "Anuj’

Dr. Chaturbhuj Sahu
Dr. R.P: Sahu

Tast 1T
Work/Book
{I) Jharkhand ki janjaativan
(I} Khadiva vyalkran
(ITI) Jharkhand ki parampar kalayen
{IV) Jharlkhand ke shaheed

Choose the correct answer from the options given below :

TT-1 % =9 = gei-11 e =i

AT TEHl F I T T AT HETe A

=11

(A) =1
B =

cy =

Dy =1

. ffrary it
. qEEE A

~

P, H1. TR

=IO
T/ TEE
() =woas =i s=Ae

(IT) =i ==

(I[I) TS FI GEEIE Fem

(IV) =mgs + 77

4= 50 T e | W wE 39 F 9EE H0a

[Question ID = 775][Question Description = 170_70_Tribal_Regional_SEPT22_Q70]

1. (AT (By-(IL). (C)-(IID). (D)-(IV)

[Option ID = 3097]

2. (A)(IID). (B)-(IV), (C)(I}, (D)-(II)

[Option ID = 3098]

30 (A)(ID). (B)-(IID). (C)-(IV). (D)-(I)

[Option ID = 3099]

4 (AJIV), (B)-AD. (C)-(IT), (D)(IIT)

[Option ID = 3100]

71) Ma4tch List Twith Tist IT:

With regard to the views of following literators regardine date of birth of poet Vidrapati

(a)
(B)
(C)
(D

ListI

Literator

Jaikant Mishra
Subhadra Jha

Pandit Harprasad.
Nagendra Nath Gupta

(D
(ID)
(I1T)
(IV)

ListIT

Date of birth
1352 =

1358 AD
1350 AD
1357 AD

Choose the correct answer from the options given below :



Tl I F W14 1 111 e i
Fi7 Ta=matd % 59 Wiy % Aeseg § (eioigs aiEeFRl & 981 5 gaite FiEn

I GEim|

(A) -9 FE {3 I 135273
(B) gazr (I) 13583
(C) dfsA =omrE It (II) 1350 3.
(D) A=A T (IV) 1357 %.

E IR G e C ot (el e i e e 0 e e 3 L

[Question ID = 776][Question Description = 171_70_Tribal_Regional_SEPT22_Q71]
1. (A (B)-(IIT), (C)«(I. (D)-(IV)

[Option ID = 3101]
2. (A)IID. (B)-iI). (Cy-(TV), (D)-(II)

[Option ID = 3102]
3. {AND), (B)-(ID), (C)-(IID). (D)-(IV)

[Option ID = 3103]
4. (AIV), (B)-(IT), (C)-(TII), (D3-(D)

[Option ID = 3104]

72) Match List T with List IT :
Tast T List 1T
Drama Dramatist
(A) Siye Swayamvar (I} Ramanaresh Tripathi
{B) Devi Droupadi (II) Ganga Prasad Arora
{(C) Subhadra (III) Ambikadutt Trpathi
(D) Savitri-Satyavan (IV) Ram charitra upadhvay
Choose the correct answer from the options given below :
-1 F = F1 g-11 e i
Tl eIl
(A) HE—=E ()  TH=ear
B) T (I) 77 &ms 37
(C) ‘mum (I #A=FET R
D) ‘wtEE-EEaE (IV) 7 =i Swsae

H9 ToU 0 e § H WA 3 R S8 i
[Question ID = 777][Question Description = 172_70_Tribal_Regional_SEPT22_Q72]
T (AY-(IV). (B)-(ID). (T)-(I). (D)-(I1I)

[Option ID = 3105]
2. (A)-(ID. (B)-(D. (C)-ID). (D}-(IV)



[Option ID = 3106]
3. (AIID), (By-(IV), (C)«I). (D)-(11)

[Option ID = 3107]
4. (A D (By-(ID. (Cy-(IID). (Dy-(IV)

[Option ID = 3108]

73) Mateh List T with Tast IT :

List I List IT

Era Period (in B.C)
(A) Adit1 Era (Ih  1400-1500
{B) Alrigshira Era (I  4000-2300
(C) KEritika Era (IITy 6000-400
(D) ‘Sutra Era (IV)  2500-1400

Choose the correct answer from the options given below :

-1 =g = ge-11 e i
1 T I
e 3. 9. @Ed
(A) T @  1400-1500
(B) FTEET e ID  4000-2500
(C) Ffaw w1 (1) 6000-400
D) TE-F (IV) 2500-1400
Hr= fon v Taegl 6 W HE I H 999 S

[Question ID = 778][Question Description = 173_70_Tribal_Regional_SEPT22_Q73]
T (ARIID, (B)-(D), (C)-(ID). (D)-(IV)

[Option ID = 3109]
2. (A)(IV). (B)-(IL). (C)-(I). (D)«IIT)

[Option ID = 3110]
3. (AT, (Bi-IV). (C)~(IID), (D)~

[Option ID = 3111]
4. (Aj-(IID), (B)~(IT), (C)-(IV), (D=L}

[Option ID = 3112]

74)  Mateh List T with List IT :

ListI List IT
Names of text books Authors
(A) Bashavigvan Ty  Ramvilas Sharma
(B) Bhasha vigyvan ki Bhumika (II) Kapildev Dwivedi
(C) Bhasha aur Samaj (ITT} Devendra Nath Sharma

(D) Bhasha Vigvan evan Bhasha Shastra (IV) Bholanath Tiwar

Choose the correct answer from the options given below :



11 % =0 A-1L T i

Tl lGe Ta=-TFA1 & 18 A 30F =@H1 & A % A4 Al i

-1 =111
(A) g (I THiE=E 7=
(B) srar-Tagma i giw (1) =Ffa=za foad
(C) i HET (I Za=r2 7w

(D) Sro-—Taae v g (IV)  SramTg T

1= Gy 18 = = e e o B e o e o o e 1 -

[Question ID = 779][Question Description = 174_70_Tribal_Regional_SEPT22_Q74]
T (A)AID, (B)-(T). (C)-(IV). (D)-(I11)

[Option ID = 3113]
2. (AWIV), (By-(IID). (C-(D, (D)-(II)

[Option ID = 3114]
3. (A)ID. (B)-(IID), (C)-(IV). (D)-(I)

[Option ID = 3115]
4. (AT (B)-ID). (CH-TID, (D)-(IV)

[Option ID = 3116]

75) Natch List I with List IT

With regard to the regions and the type of Mundar: prevalent there

TistT List I
Language Begion
(A) Ker Aa Mundar (I Kunti Area
{B) Tamadiya Mundari (II) Western area of Khuntl Region
{C) Hasa da Mundam (ITh Tamar Rezion
(D)  Nagur Mundarn iIV) Ranchi Region

Choose the correct answer from the options given below :
A1 W12 F1 gA1-11 e i

FreAferligs guer amT 9% 1 Sie % A % = gEie i)

71 .11
(A) = A1 gUed I @A
(B) wmI=aT gUEw D) 52 F 1. &9
(C) 1A qrEm (D) 775 &3
(D) =71 gusnt (IV) T &
= Tom o feppei B 3 =1 390 7 == A

[Question ID = 780][Question Description = 175_70_Tribal_Regional_SEPT22_Q75]
1. (A)I), (B)«ID), (C)-(III). (D)-(IV)



[Option ID = 3117]
2. (AMIID. (B)-(IV). (C)-(IL. (D)-(T)

[Option ID = 3118]
3. (A)ID), (BY-(D). (C)-(IV). (D)-(IIT)

[Option ID = 3119]
4 (AN(IV), (B)-(II0). (C)-(I). (D)-(II)

[Option ID = 3120]
76)  What is the correct chronological order of the composition of following books?

{A) Beejak
(B)  Kirtilata
() IMriagavati

(D)  Prithwiraj raso

Choose the correct answer from the options given helow ;

FATEA T F TS % ST HAl FE A Y

{A) FIEED
(B) e
(©) A

(D) g T

4= To0 70 TEel 8 | TR I 1 =99 S

[Question ID = 781][Question Description = 176_70_Tribal_Regional_SEPT22_Q76]
(D) (B). (A), (O

[Option ID = 3121]
2. (A). (C), (B). (D)

[Option ID = 3122]
3. (Q). (D), (A). (B)

[Option ID = 3123]
4. (D). (AL (CL(B)

[Option ID = 3124]



7 What 1s the covrect chronological order of the following Bangala hooks according to the period
of their composite?

(A) Srikrishna kirtan

(B) Govind Chandra Rajargan

{C) Dharm Mangal Kavya

(D)  Kritivas Ramavan
Choose the correct answer from the options given belaw :

(A T

(B)  iE= =g TEATTH
(C) =" e #1

(D)  Fiam TEEm

4 on 70 EEed § 0 TE I 1 =999 F0A

[Question ID = 782][Question Description = 177_70_Tribal_Regional_SEPT22_Q77]
1. (A (D). (B). (T)

[Option ID = 3125]
2. (C), (B), tA), (D)

[Option ID = 3126]
3. (B) (D). (C) (A

[Option ID = 3127]
4. (D). (A (C) (B)

[Option ID = 3128]

78 2 ; :
) What 12 the correct chronological order of the emergence of following poets?

{A) Bhuszhan
{B) Biharilal
(C) Rahim

(D) Ghananand

Choose the correct answer from the options given below :



(A g

(B) faerfem=
(Cy

(D) =R

Hr fzn T fawed § o TE I @ 9Ed Hian
[Question ID = 783][Question Description = 178_70_Tribal_Regional_SEPT22_Q78]
T (O). (B). (A), (D)

[Option ID = 3129]
2. (A)(C), (B). (D)

[Option ID = 3130]

3. (), (B). (D). (A)

[Option ID = 3131]
4 (B). (D), (A). (C)

[Option ID = 3132]

79 % : 40 . )
) What 15 the correct order of the following theories in accordance with research order of zoul of

poetry?
(A Rit1 Siddhant
(B Ras Siddhant
Q) Alankar Siddhant
(D) Dhwani Siddhant
Choose the correct answer from the options given below :

T F1 A F ATEGH FH § FEAEd Hae W oAE w5 a

(A) e fagr=

(B)y ==

(C) === EmEE
(D) == EgrE
4= Tou T wed § 9 w@E1 39 F 999 Fi

[Question ID = 784][Question Description = 179_70_Tribal_Regional_SEPT22_Q79]
(A, (0). (D). (B)

[Option ID = 3133]



2. (B). (D). (C). (A)

[Option ID = 3134]
3. (B). (). (&), (D)

[Option ID = 3135]
4. (0, (A, (B), (D0

[Option ID = 3136]
80) Arrange the following factors in the correct order

(A) Dative (Sampradan)
(B Ablative (Apadan)
() Gemtive (Sambandh)

(L)) Locative (Adhilkkaran)

Choose the correct answer from the options given below :

Trteiiae s # =5 FEE # HA
(A) e

(B} IS

(C) =ag

(D) g

= fen 7 =T § A #9139 W 999 S

[Question ID = 785][Question Description = 180_70_Tribal_Regional_SEPT22_Q80]
1. (A). (B) (C). (D)

[Option ID = 3137]
2. (A). (O). (B). (D)

[Option ID = 3138]
3. {A). (D), (B (C)

[Option ID = 3139]
4 (D). (B). (A). (C)

[Option ID = 3140]

81)

¥

What 1= the corvect order of the requirements of a sentence according to Indian Acharyas

(A) Ability
(B) Asplration
(C) Meaningfulness

(D)  Juxtaposition

Choose the correct answer from the options given below |



I ST 52§ 9 S AETIEaT AT F HEl 5w R

(4) =TI
(B) AT
(C)  =naEa
(D) =Y

4 150 T8 FEsa § 0 HA 39 W =8 B

[Question ID = 786][Question Description = 181_70_Tribal_Regional_SEPT22_Q81]
1 (A). (C). (D). (B)

[Option ID = 3141]
2. (). (A). (B). (D)

[Option ID = 3142]
3. (B). (D) (A (C)

[Option ID = 3143]
4 (B (C). (A), (D)

[Option ID = 3144]

82) "

What 1= the correct order of the following Acharyas in ferms of their emergences’

(A) Mammat
(B) Vaman
(C) Bhamah

(D)  Vishwanath

Choose the correct answer from the options ziven below :

(A) Tz
By =mA
(C) AR
Dy TavaTa

4= fou T =T © 1 T I w999 #araw

[Question ID = 787][Question Description = 182_70_Tribal_Regional_SEPT22_Q82]
1 {B). (A). (C). (D)

[Option ID = 3145]



2. Q). (D), (B), (&)

[Option ID = 3146]
3. (0). (Bl (A). (D)

[Option ID = 3147]
4. (D) (A (T (B)

[Option ID = 3148]

83) Arrange the following groups in ascending order
(A) Dozen
(B)  Pair

(C) Gross

(D) Eon (Eodi)

Choose the correct answer from the options given below :

{A) G
(B) A=
Q) TE

(D) =l (==

i R L e e e B o (e e 0 o o e 1

[Question ID = 788][Question Description = 183_70_Tribal_Regional_SEPT22_Q83]
1.0 (A (T, (B (I

[Option ID = 3149]
2. (B). (A (D), (C)

[Option ID = 3150]

3. II_CL {'D'}. IBJ. E_AI
[Option ID = 3151]

4 (D). (B). (A). (C)

[Option ID = 3152]



84)  What is the correct chronological order of the following vedas according to Dr. Kapildev
Drivedi?

(A) Samved

(B)  Yajurved

(C) Rigved

ny Atharvaved

Choose the correct answer from the options given below :

{A) TR
(B) ‘Ef}r'
(©)  wFEs
(D)  HuEEs

= fau 7o aweT 9 ® wE I T A

[Question ID = 789][Question Description = 184_70_Tribal_Regional_SEPT22_Q84]
1. (A) (B (C). (D)

[Option ID = 3153]
2. (Ch (D). (B (A)

[Option ID = 3154]
3. (B). (O), (A). (D)

[Option ID = 3155]

4 (0 (B (A (D)

[Option ID = 3156]

85) Arrange the following books on grammar and dictionarv of HO language in order of their

publication

(A) Ho grammer and vocahulary
(B) Grammer of the kol language
(C) Ho grammer with voeabulary

(D) Ho grammer

Choose the correct answer from the options gziven below :



TSR F TR AT I -FE T TAH H S TR F H T
(A) 71 UTR WS Treheer

(B)  THT 30T T FIE TS

(C) 71 UT 3% Srhge
(D =1 O
4= 7 0 EEeT § H HE 39 # 98 S

[Question ID = 790][Question Description = 185_70_Tribal_Regional_SEPT22_Q85]
1. (Ak (B) (C). (D)

[Option ID = 3157]
2. (C). (D). (A). (B)

[Option ID = 3158]
3. (B (D). (C). (A)

[Option ID = 3159]
4. (D), (B (C). (A)

[Option ID = 3160]

86) Given below are tivo statements : One iz labelled as Assertion A and the other 1= labelled as

Reason R.

Assertion (A):  Proverb 1s a clear truth expressed by the folk society 1n the form of a brief
traditional statement

Reasons (R) : Proverbs are oral strategies used by the folk society to face the conditions of

life
Which of the following statements 1s correct:

EiE] 7:1 FUq f?U m 7 UF FHEYA ( Assertion (A)) F =9 ° fangs £ A1 S ITFE # 1 (Reazons (R))

AR (A) SR =% HHTS G HiEH 9RO e 6wy § g [ STl Y T 2|
= (R) : SATHIEA] =17 WHTH GET S@S 1 GREEaEl S g #A F . U R SEae]

AT I 7

= FE-A B9 A R

[Question ID = 791][Question Description = 186_70_Tribal_Regional_SEPT22_Q86]

1. (A} is correct and (R) is false

(A)=F1 3 (R) 7 2
[Option ID = 3161]
2. Both (A) and (R) ave false



(A) 37 (R) 5F1 o1 =

[Option ID = 3162]

3 Both (A) and (R) are correct

(A) 3 (R) 71 (R) =# 2

[Option ID = 3163]
4. (A) 1z false and (R) iz correct

(A)TEa e d9F (Ry =8 2

[Option ID = 3164]

87) Given below are two statements : One 15 labelled as Assertion (A) and the other 1s labelled as

Reaszon (R).
Assertion (4):  The poet uses intelligence along with idea in his creative act
Reasons (R) ; As a result idea, imagination, intelligence all get included

Choose the correct answer from the options :

= 21w TR E v aEed (Assertion (A)) F ®9 1 fE0EA 2 A1 7890 355 F00 (Reasons (R)

FETY
HATFI (A) FE G T H A=A F Y A I A R
= (R) T, WAL, FEAl, Al T HEE g5 e T A e A

[Question ID = 792][Question Description = 187_70_Tribal_Regional_SEPT22_Q87]
1. Both (A) and (R) are correct false

(A) 3 (R)y=F1 T8 781 2

[Option ID = 3165]
2. Both (A) and (R} are correct

{A) 3 (R) /1 &1 #

[Option ID = 3166]
3. (A} i= correct but (R) 1s false

(A) T# =17 (R) a3 &

[Option ID = 3167]
4. (A) is false and (R) is correct

(A) =8 T8 8, 3t (R) & 2

[Option ID = 3168]



88) Given below are two statements : One is labelled as Assértion (A) and the other iz lahelled as

Reason (R).
Assertion (A):  Special contribution of sufism 1s the worldwide conciousness of beauty
Reasonz (R) : Because the pleasure experience by the reader in episodes of beauty is

indeserihable
Choose the corrvect answer from the options given below :

S 71 FaE TR E ¢ U SaEeA (Assertion (A)) F FT H TG £ 7 750 355 00 (Reasons (B))

AlahRE (A) o TE ] 99 7 "5 A farasdl e 2
=mm (R) - 41 1% A4 & 59T § TF (98 9T S YA W) 2, 9 A9 2

[t

= Tu o el B B I g
[Question ID = 793][Question Description = 188_70_Tribal_Regional_SEPT22_Q88]
1. (A) iz correct and (R) is false

(A) T# & A7 (R) 774 7l

[Option ID = 3169]
2. (A)is false and (R) 1s correct

(A) e 7 3 (R) @R 2
[Option ID = 3170]
3. Beoth {A) and (R) are false

(A) =7 (R) 51 7o 7

[Option ID = 3171]
4. PBoth (A) and (R) are correct

(A) =it (R) 51 591 2

[Option ID = 3172]

89)  Given helow are two statements : One is labelled as Assertion A and the other is labelled as

Reazon R.

Assertion (A):  Mind of a creative person is the reflection of the creative power of the zod.
creator of the umiverse.

Reas=onsz (R) : Because 1t 15 not the principal cause of entire human knolwedge

Choose the correct answer from the options given below :



= 1 F4H WU ;U AE (Assertion (A)) F F9 H T9MEA # 7 58 355 FE0 (Reasons (R))

FETH

AR (A) HEHEIE WA 1 B S o 21 ETET 1 A1 30 1 A a7
FFW (R) : T 7 FEYW A~ F G T A 27

= fou o FeEe | oE = )

[Question ID = 794][Question Description = 189_70_Tribal_Regional_SEPT22_Q89]

. {A)is false and (R) is correct

(A) T E W (R) T R

[Option ID = 3173]
2. (A)1s correct and (R) is false

(A) TF 2 #70 (R) 7o 21

[Option ID = 3174]

3. Both (A) and (R) are correct

(A) =iz (R) 51 931 &

[Option ID = 3175]
4. Both (A) and (R) are false

(A) H17 (R) 1 T4 7
[Option ID = 3176]
90) i . . _ . .
Grven below arve two statements : One 12 labelled as Aszsertion (A) and the other 12 Iabelled as
Reaszon (R).
Assertion (A) ;.  Lmage is a type of word-preture,
Reasons (R) : Becausze 1t 1s not formed by imagination,

In the light of the above statements, choose the most appropriate answer from the options:

given below :

59 51 FUT 70 W 7 UF w0 { Assertion (A)) F w4 foiEa & wHT 3% F0 (Reaszons (R))

FETH ;
HHFUE (A) e =R parie i e |
F7 (R) FATF 9] a0 T4 5F1 T51 7T 21

9 fou T feTl 3 HE I 9T

[Question ID = 795][Question Description = 190_70_Tribal_Regional_SEPT22_Q90]



N

(A) 15 carrect and (R) 1= falze

(A) TH 2 31 (R) T B

[Option ID = 3177]
{A) 1s false and (R) 1s correct

(A) 7T = &0 (R) TR 2

[Option ID = 3178]
Both (A) and (R) are correct

(A) ¥ (R) 741 =41 7

[Option ID = 3179]
Both (A) and (B) ave false

(A) 3R (R) 271 74 2

[Option ID = 3180]

Topic:- 070_SEPT22_S1_PartB

1) Read the following paragraph carefully and answer the guestion given below

(91-95):

Jharkhandi culture had been keeping the people bound together through its unique identity.
However the cultural unity of the people has been 1mpacted because of cultural pollution 1in
the phase of development and this culture 1= forced to loose its identity. Today with the
emergence of sensualist artificial society along with facilities of transportation. people of this
region non seen to be confined. Apprehension. frustration and resentment 1= visible,
Disturbed eyes are gettin sad. It 1= visible that thev are getting away from human values.
They are being foreed to adjust in order to join the national mainstream while constricting
their cultural space. Jharkhand's culture is naturalistic. Consequently the people here love
nature, Nature iz worshipped. Thelr religious ceremonies are simple devoid of ostenatations,
Their Gods reside on sal or other trees. Therefore, they have inalienable relations with
forests. their totemie spirit resides in the forests but in the phase of development. the
indiscriminate felling of trees has led to a situation where people here have been rendered
trunkles. People here are rendered trunkless. People here are getting confined and their
environment is getting contreited.

Tr=forimm afregs =t g S 3o T wet % T Ffe)

e i o A B bl i e e o e B 1 e e - B | e T s B e e et B L 2
F| TR FEVEA F GEGE FAG GW-{S0E] S 967 % 356 F W9 59 &9 F S § mEed o
ST 2| WeTlha, Fiaa U9 AGRE S S0 £ FEr 9 e 9 5 2 250 9@ S 2| gHae F
77 A B 2 A WEA 2| 29 F e ¥ w5 F fow s wegte uiee § e e o
FAAG F| 59F AIHF FALE W 7, AT A0 7| 396 AR G99 91 91 5 g6 | T 8| FEE 50 |
SR HEZ TEEE E| WeT § SR 2 SiE TR 7| W 9 A § Sl iy w2 § 98 F

What will be an approprate title for this passage?

1.

04T Fd=as & 399 e T 7T 1

[Question ID = 796][Question Description = 191_70_Tribal_Regional_SEPT22_Q91]

Phases of development



1.

[Option ID = 3181]
Cultural pollution

. -~
zu:"’?r o H Eiul

[Option ID = 3182]

- Identity of Jharkhandi culture

[Option ID = 3183]
Virtues of humanity

A &

[Option ID = 3184]

2) Read the following paragraph carefully and answer the question given below

(91-95):

Jharkhandi culture had been keeping the people bound together through 1ts unique identity.
However the cultural unity of the people has been 1impacted because of cultural pollution 1in
the phase of development and this culture 1= forced to loose its identity. Today with the
emergence of sensualist artificial society along with facilities of transportation: people of this
region non seen to be confined. Apprehension. frusiration and resentment is visible.
Disturbed eves are gettin sad. It 1= visible that thev are getting away from human values.
They are being foreed to adjust in crder to join the national mainstream while constrieting
their cultural space. Jharkhand's culture is naturalistic. Consequently the people here love
nature. Nature iz worshipped. Their religious ceremonies are simple devoid of ostenatations,
Ther Gods reside on sal or other trees. Therefore, they have inalienable relations with
forests. thelr totemic spirit resides in the forests but in the phase of development, the
indiscriminate felling of trees has led to a situation where people here have been renderved
trunkles. People here are rendered trunkless. People here are getting confined and their
environment 1s getting contreited,

Tr=forimmn afress 1 gees T 20 T o=t % T Ffa|
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Jharkhandi culture has been impacted because of

OGS TERl [ R T 55 R 7

[Question ID = 797][Question Description = 192_70_Tribal_Regional_SEPT22_Q92]
Sensualism

q -

[Option ID = 3185]



2.

3.

4.

Cultural pollution

[Option ID = 3186]
Felling of forests

[Option ID = 3187]
Lack of human values

[Option ID = 3188]

3) Read the following paragraph carefully and answer the quesiion given below

(91-95):

Jharkhandi culture had been keeping the people bound together through its unique identity.
However the cultural unity of the people has been 1mpacted because of cultural pollution 1in
the phase of development and this culture 1= forced to loose its identity. Today with the
emergence of sensualist artificial societv along with facilities of transportation. people of this
region non seen to be confined. Apprehension. frustration and resentment is visible.
Disturbed eves are gettin sad. It 1= visible that thev are getting away from human values.
They are heing foreed to adjust in order to join the national mainstream while constricting
their cultural space. Jharkhand's culture is naturalistic. Consequently the people here love
nature. Nature 1= worshipped. Their religious ceremonies are simple devoid of ostenatations,
Their Gods reside on sal or other trees. Therefore, they have inalienable relations with
forests. their totemie spirit resides in the forests bui in the phase of development. the
indizcriminate felling of trees has led to a situation where people here have been rendered
trunkles. People here are rendered trunkless. People here are getting confined and theinr
environment is getting contreited.

Tt aftegs =1 g v 50 0 weet & sm Atau|
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What 1s being forced to be done to join the natural mam stream?

=7 F1 T 9 H AT F 0 4 w95 AT

[Question ID = 798][Question Description = 193_70_Tribal_Regional_SEPT22_Q93]
1. To find thenr cultural identity

2.

ST A AF TEE A

[Option ID = 3189]
to credte an artificial society



3.

4.

[Option ID = 3190]

to worship nature

[Option ID = 3191]

to construet the boundaries of their cultural envivonment

TIEFTAF T | ST HET = F

[Option ID = 3192]

4) Read the following paragraph carefully and answer the question given below

1.

(91-95):

Jharkhandi culture had been keeping the people hound together through its unique identity.
However the cultural unity of the people has been impacted because of cultural pollution in
the phase of development and this culture 1= forced to loose its identity. Today with the
emergence of sensualist artificial society along with facilities of transportation. people of this
region non seen to be confined. Apprehension. frustration and resentment is visible.
Disturbed eves are gettin sad. It 1= visible that thev are getting away from human values.
They are being forced to adjust in order to join the national mainstream while constricting
their cultural space. Jharkhand's culture is naturalistic. Consequently the people here love
nature. Nature iz worshipped. Their religious ceremonies are simple devoid of nstenatations,
Their Gods reside on sal or other trees. Therefore, they have inalienable relations with
forests. thelr totemie spirit resides in the forests bui in the phase of development. the
indizcriminate felling of trees has led to a situation where people here have been rendered
trunkles. People here are rendered trunkless. People here are getting confined and their

environment is getting contreited.
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What 1= the form of the Jharkhand: culture?
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[Question ID = 799][Question Description = 194_70_Tribal_Regional_SEPT22_Q94]
Naturalistic

[Option ID = 3193]

2. Humanist

il

HEEATETE

[Option ID = 3194]
- Foreat

[Option ID = 3195]



4.

Developmental

-
-

[Option ID = 3196]

5) Read the following paragraph carefully and answer the question given below

(91-95):

Jharkhandi culture had been keeping the people bound together through its unique identity,
However the cultural umity of the people has been 1mpacted because of cultural pollution 1in
the phase of development and this culture 1= forced to loose its identity. Today with the
emergence of sensualist artificial society along with facilities of transportation. people of this
region non seen to be confined. Apprehension. frustration and resentment is vizible.
Disturbed eves are gettin sad. It 1= visible that thev are getting away from human values.
They are being forced to adjust in order to join the national mainstream while constricting
their eultural space. Jharkhand's culture is naturalistic. Consequently the people here love
nature. Nature 1= worshipped. Their religious ceremonies are simple devoid of ostenatations,
Ther Gods reside on sal or other trees. Therefore, they have inalienable relations with
forests. theilr totemic spirit resides in the forests but in the phase of development, the
indiscriminate felling of trees has led to a situation where people here have been renderved
trunkles. People here are rendered trunkless. People here are getting confined and their
environment is getting contreited.
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Why have the people of Jharkhand been rendered trunkless?

1.

TGS | TEAAE 0T A AT W 5 38 FOEENE T A E R

[Question ID = 800][Question Description = 195_70_Tribal_Regional_SEPT22_Q95]
Emergence of sensualist society

ST TaeT T 1 ST

[Option ID = 3197]
indiscriminate felling of forests

[Option ID = 3198]

3. lack of cultural unity

[Option ID = 3199]

4. (Constriction of environment

[Option ID = 3200]



Topic:- 070_SEPT22_S1_PartC

1)

Read the following passage carefully and answer the guestions give helow : (96-100)

Vedie literature is immensely huge. It is that foundation which has been shouldering the later
Sanskmt literature and Indian Philosophy. The truth discovered by Indian sages and
thinkers with their unparalleled talent and intellicence is a matter of significance for today’s
thinkers and philosophers. The sage of vedic mantras not only worshipped the natural divine
powers but was also endowed with highly emetional poetic powers. He expressed his feelines
in a natural styvle which may not be asz embellished as the later Sanskrit poetry but carres

unigue fludity of experiences. Vedas are unique treasure for the students of all aspects of

Indian literature. culture and philosophy and itz importance cannot be denied.

Tretertzm wivess =t 9w S fAm o ot & s i)
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What shall be the appropriate title for this passage?

W A=IT F IO I 9 A Y

[Question ID = 801][Question Description = 196_70_Tribal_Regional_SEPT22_Q96]
1. Discovery of truth

[Option ID = 3201]
2. Bignifieance of vedic literature

;j ri F'; & H rI Aed Tl Herd
[Option ID = 3202]
3. Sanskmt literature
TFe Afea
[Option ID = 3203]
Indian philosophy
; n ﬂJ'I'

[Option ID = 3204]



2)

Read the following passage carefully and answer the guestions give bhelow : (96-100)

Vedie literature 1s immensely huge. It is that foundation which has been shouldering the later
Sanskmt literature and Indian Philosophy. The truth discovered by Indian sages and
thinkers with their unparalleled talent and intellicence is a matter of significance for today’s
thinkers and philosophers. The sage of vedic mantras not only worshipped the natural divine
powers but was also endowed with highly emetional poetic powers. He expressed his feelings
In a natural style which may not be as embellished as the later Sanskrit poetry but carmes

unigue fluadity of experiences. Vedas are unique treasure for the students of all aspects of

Indian literature. culture and philosophy and itz importance cannot be denied.

Fretertem airess =t 9w S fim o oot & s i)

Aok WIera AT =T Wi 21 97 97 9w e 2, 5w wed @eFa aiee o aweE 5ve
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What 1= the basic foundation of later literature?

TEH| HAIEE AN = R

[Question ID = 802][Question Description = 197_70_Tribal_Regional_SEPT22_Q97]
1. Indian thinkers and philsophers

[Option ID = 3205]

- Natural divine powers
. = o
i "?_-iﬂ & TR
[Option ID = 3206]
3. Vedic literature
T

[Option ID = 3207]
4. Huge literature

[Option ID = 3208]



3)

Read the following passage carefully and answer the guestions give bhelow : (96-100)

Vedie literature 1s immensely huge. It is that foundation which has been shouldering the later
Sanskmt literature and Indian Philosophy. The truth discovered by Indian sages and
thinkers with their unparalleled talent and intellicence is a matter of significance for today’s
thinkers and philosophers. The sage of vedic mantras not only worshipped the natural divine
powers but was also endowed with highly emetional poetic powers. He expressed his feelings
In a natural style which may not be as embellished as the later Sanskrit poetry but carmes
unigue fluadity of experiences. Vedas are unique treasure for the students of all aspects of

Indian literature. culture and philosophy and itz importance cannot be denied.

Fretertem airess =t 9w S fim o oot & s i)

Aok WIera AT =T Wi 21 97 97 9w e 2, 5w wed @eFa aiee o aweE 5ve

[

o1 297 2| 9fcF el 51 @ ool 3 991 o7 991 99 e F 5E neEEe 0 0 o o w5
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Which type of stvle 1= found in Rigveda?
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[Question ID = 803][Question Description = 198_70_Tribal_Regional_SEPT22_Q98]

1.

Emhellished =style

[Option ID = 3209]

- Poetic style

[Option ID = 3210]

- Praver gtvle

[Option ID = 3211]
Natural style

[Option ID = 3212]



1.

4)

Read the following passage carefully and answer the guestions give bhelow : (96-100)

Vedie literature 1s immensely huge. It is that foundation which has been shouldering the later
Sanskmt literature and Indian Philosophy. The truth discovered by Indian sages and
thinkers with their unparalleled talent and intellicence is a matter of significance for today’s
thinkers and philosophers. The sage of vedic mantras not only worshipped the natural divine
powers but was also endowed with highly emetional poetic powers. He expressed his feelings
In a natural style which may not be as embellished as the later Sanskrit poetry but carmes

unigue fluadity of experiences. Vedas are unique treasure for the students of all aspects of

Indian literature. culture and philosophy and itz importance cannot be denied.

Fretertem airess =t 9w S fim o oot & s i)

Aok WIera AT =T Wi 21 97 97 9w e 2, 5w wed @eFa aiee o aweE 5ve

[
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What type of sages were there in Rigvedic Mantras?

[Question ID = 804][Question Description = 199_70_Tribal_Regional_SEPT22_Q99]

Worshippers of divine powers.
[Option ID = 3213]

Students of all aspects

Tt g T s

[Option ID = 3214]

3. Elemental visionary and philosopher

[Option ID = 3215]

4. Talented and dizcoverer of truth

HurEl a4 53 F ASTE

[Option ID = 3216]



5)

Read the following passage carefully and answer the guestions give bhelow : (96-100)

Vedie literature 1s immensely huge. It is that foundation which has been shouldering the later
Sanskmt literature and Indian Philosophy. The truth discovered by Indian sages and
thinkers with their unparalleled talent and intellicence is a matter of significance for today’s
thinkers and philosophers. The sage of vedic mantras not only worshipped the natural divine
powers but was also endowed with highly emetional poetic powers. He expressed his feelings
In a natural style which may not be as embellished as the later Sanskrit poetry but carmes

unigue fluadity of experiences. Vedas are unique treasure for the students of all aspects of

Indian literature. culture and philosophy and itz importance cannot be denied.
Fretorts afrss =t v e T2 o ot & 3 i)

Aok WIera AT =T Wi 21 97 97 9w e 2, 5w wed @eFa aiee o aweE 5ve
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Whose unigue treasure are the vedas?

a5 T AgE Y 2
[Question ID = 805][Question Description = 200_70_Tribal_Regional_SEPT22_Q100]
1. Todav's thinkers and philosophers
[Option ID = 3217]
2. Indian literature. culture and metaphysics
[Option ID = 3218]
3. WVedic sages

[Option ID = 3219]
4. Natural Divine Powers

[Option ID = 3220]

Topic:- GP_22SEPT22_SH2_S1_PartA



1) The following table shows the details about the number of different catesories of vehicles sald
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

= AEel § 39 2017-2021 F w5 Fe-S 49 % a1 sl (FAe §) # E f5ow
APFS] W AT AW USEE # ) AW 1-5 WAl ok 39 S

F9-aW = A e (e )

: ElGaieale il
313’ e
TR A, | v | FwE | A | T 9
2017 53 128 464 | 306 G630
2018 ap 120 4584 | 344 672
2019 144 158 496 | 420 B0E
2020 162 186 560 | 432 322
2021 214 294 532 | 470 834

In which year. the number of LCVs sold was approximately 25% of the number of
two-wheelers sold?

T = o, Tag T o, wer 47, 1w fasa T T ST Sl S A 6 e 25% o7

[Question ID = 956][Question Description = 101_00_General_15_SEPT22_Q01]

- 2020

[Option ID = 3821]
2. 2018

[Option ID = 3822]
3. 2017

[Option ID = 3823]
4 2021

[Option ID = 3824]



2) The following table shows the details about the number of different catesories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heavyv Commercial Vehicle: LCV: Light Commercial Vehicle

e mRoh & = 2017-2021 % sewia - A b A S e (Fa A @ e
FAHET T AT AW R B HE 1.5 W F 39 At

i —ame A A o (i A )

: ElGaieale il
B-rg e
T HAL | v | wE | S | e e

2017 b3 128 464 | 306 G20
2018 a0 120 484 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 560 | 432 822
2021 214 224 532 | 470 8R4

If the percentage increase in the sale of HCOVs m 2022 over 2021 1= expected to be same as in
2021 over 2020. then approximately how many HCOVs (in thousands) will be sold 1n 20227

oz =9 2022 § vEELE. # fwh 9 99 2021 F g § wievm 9ig =39 2020 1 g § 99 2020 ®
AA TEA Al SN R A 99 2022 1 wEren e ve HL AL (demn wmm ) e e

[Question ID = 957][Question Description = 102_00_General_15_SEPT22_Q02]
1. 278

L=

[Option ID = 3825]
2. 282

[Option ID = 3826]
3. 288

[Option ID = 3827]
4. 266

[Option ID = 3828]



3) The following table shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

questions 1-5:

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

e Al § =@ 2017-2021 % A AeT-3er A9 % Sl Rl ekl (FAW H) F EE el
APFS] W AT AW USEE # ) AW 1-5 WAl ok 39 S

F9-aW = A e (e )

: ElGaieale il
313’ e
TR A, | v | FwE | A | T 9
2017 53 128 464 | 306 G630
2018 ap 120 4584 | 344 672
2019 144 158 496 | 420 B0E
2020 162 186 a6l | 482 322
2021 214 294 532 | 470 834

The number of HCVs sold in 2020 was approximatelv what percent of the total number of
vehicles sold in 20197

79 2020 © Topa BT T TAELAL 39 2010 § B TR T FE AwAl F1 @ e e aaem
=

[Question ID = 958][Question Description = 103_00_General_15_SEPT22_Q03]

1. 8%

[Option ID = 3829]
2 10%

10 e

[Option ID = 3830]

3. T%
Y
¢ ITATA
[Option ID = 3831]
4, g,

O TFeTE

[Option ID = 3832]



4) The following table shows the details about the number of different categories of vehicles sald
{in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

guestions 1-5:

Year-wise Sale of Vehicles (in thousands)

- Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 125 | 464 | 306 680
2018 | 90 120 | 484 | 544 672
2018 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

=T Tl § =3 2017-2021 F 3R fEI-33ET 490 %k ST Rl ek (FAW ) w1 TEEm e o
APFS] T AT ARl uglE # At 1-5 T o 3 i

T9—aw el F T (7R )

: il 1
a-rq =
v A | v A | W | Sy | Tgaiear aee
2017 22 128 464 | 306 Gs0
2018 a0 120 454 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 560 | 482 822
2021 214 224 632 | 470 2384

TR AT - 9T anisEE A, ve L - B S T

The =zale of two-wheelers as a percentage of the sale of total number of vehicles was highest in
the year

TR A W Tg—91ma1 ATeAT 21 (9] T ATeAl i ST T T o T 6 e o s 97
[Question ID = 959][Question Description = 104_00_General_15_SEPT22_Q04]
1. 2021

[Option ID = 3833]
2 2018

[Option ID = 3834]
3. 2017

[Option ID = 3835]
4. 2019

[Option ID = 3836]



5)

questions 1-5:

The following table shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

= mmel 7 =39 2017-2021 F w=ma -3 490 F T A s (= 9) F Ee g o

SRS T AT AW W A ) 5l 1-5 Yo & I St

F9-aW = A e (e )

: ElGaieale il
313’ e
v AL | vE L | e | S | i ans

2017 b3 128 464 | 306 G20
2018 a0 120 484 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 a6l | 482 822
2021 214 224 532 | 470 8R4

The percentage increase in the zales in the vear 2020 over the previcus vear was maximum

for which of the following categories of vehicles?

ATEA I HASNEA S0 5 H FREE TEd 99 2020 § e 99 w6 GGl T Tashl | e ’}I_L:; Al
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[Question ID = 960][Question Description = 105_00_General_15_SEPT22_Q05]

1. Car
ELs

[Option ID = 3837]
2. HCV

= A= AL

[Option ID = 3838]
3. Jeep

r

A

[Option ID = 3839]
4. LCV

T H= AL

[Option ID = 3840]



Topic:- GP_22SEPT22_SH2_S1_PartB

1) Which of the following tvpe of questions cannot sasily be autograded by LMS softwares?

T=TRa |5 | 6| TR % U9l F US TR T WAt G ST H 2SR R

[Question ID = 961][Question Description = 106_00_General_15_SEPT22_Q06]
1. Mlultiple Choice Question

[Option ID = 3841]
2. Tpue-False Question

HE - =3 WA

[Option ID = 3842]
3. Bubjective Question

[Option ID = 3843]
4. Matching Question

[Option ID = 3844]

2) Where do the important aspects of learning including analysis. application. ereativity and
evaluation take place as per the traditional model of elassroom teaching?

FHT A F WG WS F FEN G, ST, GEAEEal S qeadd #Ea aam & aeeagn
[Question ID = 962][Question Description = 107_00_General_15_SEPT22_Q07]
1. Qutside class
F4T | AT
[Option ID = 3845]
2. TInsideclass
Tl & Hiew

[Option ID = 3846]
3. During summative assessment

[Option ID = 3847]
4. Onrote learning

TZT FTH T AT IRE W

[Option ID = 3848]



Match List I wath Tast IT :

ListI List IT
(Methodology of Teaching) {Teachers support system)
(A) WVideo through LMS and face to face (I} Traditional
discussions
(B) TUse of Talk and Chalk and Shamng of (IIy Modern
notes
(C) Case-study discussions (IIT) ICT based
(D) Use of projector in class for delivering (IV) Hyhbrid or Blended
presentation

Choose the correct answer from the options given below !

H=hi-1 % |14 1 G-I 5o e ;

=1 T IT
(Toremr fame) Gt e e )
(A) US ©H UA % W H ANsE #E AEA- (I T
e EE
(B) =T R TE F T S TET w mE (I) A=
AT
(C) wav-weaae {aga (ITT) A =i & e
(D) wEgl % o % o WATE (WiHAe) w0 (IV) #iTe =n Tarsm
T

419 fou 70 faweal @ B 9F 39 #1999 i

[Question ID = 963][Question Description = 108_00_General_15_SEPT22_Q08]
T (A, (B)D). (C)-ID). (D)-(IV)

[Option ID = 3849]
2. (A)-(IL), (By-(I). (C)-(III), (Dy-(TV)

[Option ID = 3850]
3. (A)-D. (B)-(IV). (C)-(II), (D)-(IID)

[Option ID = 3851]
4. (ANIV). (B)-(D). (Cy-(II). (D)-(I1I)

[Option ID = 3852]

4) A teacher teaches in a scaled down situation of teaching. Which of the following terms can be

used for this type of teaching?

3 TEF WEATTA A T AN ® TR 2| 38 TRE F Eew F 9 FEied § " FE 9 9 6T
B HEA 27

[Question ID = 964][Question Description = 109_00_General_15_SEPT22_Q09]
1. Maero teaching

[Option ID = 3853]
2. Sampling teaching



-:Eiilr[-!l

[Option ID = 3854]

3. Cooperative teaching

HEEE] E

[Option ID = 3855]
4. Micro teaching

T T
[Option ID = 3856]

5) In which of the following teaching models. the learmer iz mostly self directed and iz
responsible for his or her own learning?

Feita T 1 = e aies 9 stomral Saee S-eEE 3 9 TE F AeTm F o e 5

X
=

[Question ID = 965][Question Description = 110_00_General_15_SEPT22_Q10]
1. Andragogical model

[Option ID = 3857]
2. Pedagozy model

[Option ID = 3858]
3. Flip-classroom model

et -TeTEEs Bise (FHa-3chd 5ise)

[Option ID = 3859]
4. Reflective teaching model

I'—‘Jq:.ﬁ 'FQ‘[?.-}TIT qiai:l

[Option ID = 3860]

6) Operational definitions have

[Question ID = 966][Question Description = 111_00_General_15_SEPT22_Q11]
1. Limited meaning

Hiiwa ¥4 71 2
[Option ID = 3861]
Extensive meaming
O
[Option ID = 3862]
Sectoral meaning
[Option ID = 3863]
4. Universal meaning

2.

3.



EEE 94 74 7

[Option ID = 3864]

7 A
) The ratio level of measurement has

T S =R
[Question ID = 967][Question Description = 112_00_General_15_SEPT22_Q12]
1. A constant odd number
[Option ID = 3865]
2. A true zero point
[Option ID = 3866]
3. Unique applications
- ﬁ’ ﬁ e

[Option ID = 3867]
4 Limited use in Physical Sciences

e 39 § =iga =

[Option ID = 3868]

8) The major advantages of an online Survey are:

(A) It provides strong control over data zathering process.
(B The identified respondent always fills the questionnaire.
() It 15 normally inexpensive.

(D) It facihtates the speedy collection of data

(E) It can be conducted from the researcher’s location.

Choose the correct answer from the options given helow |

AR FAGT F TS A A 7

(A)  =F IS AEEY AT W OAHsH T U5 HA 2
(B) Talea ulaam =9 9oTas & 95 A

(C) == \REE S 7 A

(D) == STFE1 F A AR F ETS A 2

(E) == 9geal =1 e J T=we B A 999 2

oo o fame § B mF T W =EE

[Question ID = 968][Question Description = 113_00_General_15_SEPT22_Q13]
1. A B.COnly
Fa7 A. B, C

[Option ID = 3869]
2. B.C.DOnly



FAAB.C.D

[Option ID = 3870]
3. 0.D.EOnly

a7 C.D. E

[Option ID = 3871]
4 A B.EOnly

Fa7 A, B. E

[Option ID = 3872]

9)  Given helow are two statements :
Statement I i Visual ethnnography as a recent branch of research is dependent upon
photo-elicitation to.a large extent.
Statement IT :  The visual research has not helped in empowering the marginalizsed
people.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 1= true but Statement IT 1= false

(4) Statement I is falze but Statement I 1= true

A= T Fe rom E
FoA 1 wEEgd F 9 T A F UF W F E9 U 9 900G 9E 5 O TR - 9
e 21

Fed I1: 579 STHGH 79 F S0 R JOFF FH F WES TR T E

T FOH F AEE O, A e W e 8 O a5 O =9 R

[Question ID = 969][Question Description = 114_00_General_15_SEPT22_Q14]
1. Both Statement I and Statement Il are true
o I s e |50 7
[Option ID = 3873]
2. Both Statement I and Statement IT ave false
e [ 3 1 gH1 530 =

[Option ID = 3874]

3. Btatement I is true but Statement IT 1= false
w0 1 a0a 7, =i 9 I 35 2
[Option ID = 3875]
4.

Statement I 1s false but Statement II 1s true

FoF 1 515/ 7, @A 394 [ 978 &

[Option ID = 3876]
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) Match List I with Tast 1T :
List I
{Types of case)
(A) Critical case

(B} TUnique case

List IT
(Description)

iI) Provides an opportunity to analyse a
previously inaccessible phenomenon.

(IT) Based on a well-developed theory

(C) TRepresentative case (III) Normally selected for clinical studies.

(D) Revelatory case

(IV) Related to common place situation

Choose the correct answer from the options siven below :

FH1-17% =12 FT gAi-11 T HifA0

1
(T = W)
(A) THEEATEE T
(B) FUEA T
(C) Wil T
(D) TEEAEEA TE

T=-10
(=)
1) o s aferea & favem & s
TR A
(IT) Hi=hias Egee W S
(III) =A== Fae 55999 (o 599
(IV) == 227 fets = gafi

= fon o e § 7 WE T A == i

[Question ID = 970][Question Description = 115_00_General_15_SEPT22_Q15]
(AT, (B)-(IL). (C)~(III). (D-(IV)

1.

2.

3.

4.

[Option ID = 3877]

(A)-(IID). (BY)=(IV). (C)(I). (D)-(IT)

[Option ID = 3878]

(A)-(IV), (B)-(I), (Cy-(IT), (D)-(I1T}

[Option ID = 3879]

(A)-(IL), (B)-(II0). (©)-(IV). (D)-(Iy

[Option ID = 3880]

11) For a student of communication reading includes the gkills of

o e F fardt F o were e F g Fer 20

[Question ID = 971][Question Description = 116_00_General_15_SEPT22_Q16]

1.

2.

3.

Observation and analysis

TAATA TH Hre

[Option ID = 3881]
De-contextualisation

[Option ID = 3882]
Understanding for others

[Option ID = 3883]



4. Passive viewing of vizual media
ig—qm-?qjlwr'J_ qma.-—r
[Option ID = 3884]

12) Normally mass media operate 1n

Tl 9 HEE A g B a

[Question ID = 972][Question Description = 117_00_General_15_SEPT22_Q17]

- Personal Sphere

=i & H
[Option ID = 3885]
2. Political Sphere

L i e e
[Option ID = 3886]

3. Economic Sphere
[Option ID = 3887]

4. Public Sphers
Gl ER:

[Option ID = 3888]

13) In mass communication. the audiences are :

(A)  Well-defined
B) Anonymous
(C) Homogeneous
(D) Heterogeneous

{E) Scattered
Choose the correct answer from the options given below :

(A mEErEa

By =AW

(C) H=mmE

e

(E) wFm

fom 7 faewl © 9 #E S W == A

[Question ID = 973][Question Description = 118_00_General_15_SEPT22_Q18]
1. A B.COnly
Fae A, B. C

[Option ID = 3889]
2. B, C, D Only



F7 B. . D

[Option ID = 3890]
3. B, D.EOnly

Fa9B. D E

[Option ID = 3891]
4 C.D.E Only

Fa7C, D. E

[Option ID = 3892]

14 . . R . . .

) Which of the following can be used to overcome communication barriers in an organization?
(A) Unhmited use of grapevine.
(B) Sectionalizsed and preferred feedback
(C) Action-oriented communication
(D) Proper use of language
(E) Inter-personal relations
Choose the eorrect answer from the options given below :

e § | e v AeaE d Anm SEe) w U A F R T e A A A

(A} TF TER w1 SEEE =
(By Tawrtsm v stiam wioate
(C)  FE wrEE e

(D) T FEEE T

(E) 3= T30 T4

Tom T fae] © W @E 3 F =99 A

[Question ID = 974][Question Description = 119_00_General_15_SEPT22_Q19]
. A B.COnly

Fa9 A, B. C
[Option ID = 3893]

2. B.C.D Only

F4= B, C. D

[Option ID = 3894]
3. (.D.E Only

F==C.D. E

[Option ID = 3895]
4. A D, EOnly

Fa[ A. D.E

[Option ID = 3896]



15)

Given below are two statements :
Statement T : The conventional electromic medium of television suffers from the
‘master-slave’ architecture.

Statement 11 : The Computer-based communication technologies promote

individuahi=m and creativity,

In the light of the above statements. choose the correct answer from the options given below :

B A B s i e L

F99 11 ZieIEeA 1 TSR SRl H1eTs =i e | 9 R
FoA I TV SV O A ST S Gl e Fel 2

TRl TE B e o e M 1B T L o et e = o o e L R e [ L

[Question ID = 975][Question Description = 120_00_General_15_SEPT22_Q20]

1.

PBoth Statement I and Statement I1 are true

[Option ID = 3897]
2. Both Statement T and Statement IT are falzse

[Option ID = 3898]
3. Statement I 1= true but Statement IT 1= false

o [ 50 2, S 9 11 #6907

[Option ID = 3899]

Statement I 1s false but Statement II is true

o[ [ woed 2, A FuE 1L e 7

[Option ID = 3900]

16) tha coding scheme the word 'STATEMENT is written as 'TNEMETATS'. In the same coding

gcheme, how the word POLITICAL zhall be coded?

U 2 B (F=T) Tgid 8 7er ‘STATEMENT %1 TNEMETATS' formar = 21 381 2 S agid
® v POLITICAL %1 0 15 71 ¢

[Question ID = 976][Question Description = 121_00_General_15_SEPT22_Q21]

1.

LATCTIOLP

[Option ID = 3901]

2.

LACITILOP

[Option ID = 3902]

3.

LACTILOP

[Option ID = 3903]
4. LACTILIOP
[Option ID = 3904]



17) In the number 455 1s divided in the ratioc of 4:3. then the two parts of 455 shall be
respectively?

Alg HEAT 455 W 4:3 F FAIA H FAINAT A1 A, A 455 F 5 G0 FET 70
[Question ID = 977][Question Description = 122_00_General_15_SEPT22_Q22]
1. 260, 195

[Option ID = 3905]
2. 250, 205

[Option ID = 3906]
3. 265,190

[Option ID = 3907]
4. 255,200

[Option ID = 3908]

18) Two students A and B are ranked 9% and 13® respectively from the top in a class of
37 students, What will be their ranks (A & B respectively) from bottom in the class?

37 TET F1 OF F41 9 @ 91 A 3T B W 5 T T #0091 66 1397 7| FE § A= T = (FE A
A1 B) T 31 70W 7

[Question ID = 978][Question Description = 123_00_General_15_SEPT22_Q23]

- 25 29
[Option ID = 3909]

2. 24, 928

[Option ID = 3910]
3. 29,25

[Option ID = 3911]
4. 28, 24

[Option ID = 3912]

19) A hov goes 10 km in the north direction from his school. From there he turns left and goes
15 km. and again turns left and zoes 10 km. How far is the boy from his school and in which

direction from schoal?

TF S H S H I g H 10 PR ST 21 99 | 9E WS SF gsAl ¢ AW 1S FREL e 2 oA
TH = =1 9% 43 9 9% 10 . I 7| 9 e O TueE § e g i FmeE g e e e

Bl

[Question ID = 979][Question Description = 124_00_General_15_SEPT22_Q24]
- 10 km and in North Divection
10 Tt 57 s e §

[Option ID = 3913]
2. 15 km and in South Divection

15 TH1 3w wiem f5en |

[Option ID = 3914]
3. 10 km and in West Direction

L0 TFH1 ¥ 9fv=s T |

[Option ID = 3915]
4. 15 km and in West Direction



15 foft =it ofvam o &
[Option ID = 3916]

20) After getting two successive discounts. a shirt with a list price of Ra. 150 1= available at
R=.105. If the second dizcount is 12.5%. find the first dizcount?

TF FHE T g o9 % 150 B, W IR 9E (F2) F Oum 5.105 W 9o 2| A TE wm
12.5% 2, &1 951 =g 7 Firee)

[Question ID = 980][Question Description = 125_00_General_15_SEPT22_Q25]
1. 15%

[Option ID = 3917]
2. 20%

[Option ID = 3918]

3. 25%
[Option ID = 3919]
4. 1'}"1@.

[Option ID = 3920]

21)  If'same men are violent’ is given as false which of the following could be immediately inferred
frrom 1t7
(A ‘No men are viclent is undetermined
(B) ‘Some men are not violent' is true
() "No nien are violent is true

(D) ‘All men are violent 1s false

Choose the correect answer from the options given below :

I A FE o EEE 2, F A S T 2, A1 55, eEd § H 0 aewie SEnTEd e o
TEAT A7

(A) = o =R e R e, At 2
B ‘TR @

(C) ‘=i i =t Fm o A

D) ‘= =mhE w2 e

{70 U famea °§ | TR I =99 R

[Question ID = 981][Question Description = 126_00_General_15_SEPT22_Q26]
. B.C.DOnly

Fa9 B.C.D
[Option ID = 3921]
2. A B.DOnly

FaF A B.D

[Option ID = 3922]
3. Aand D Only



FaA A I D

[Option ID = 3923]
4 Aand C Only

FaE A S0 C

[Option ID = 3924]

22) “The universe must be spherical in form sinee all the constituent parts of the universe. stars
and planets etc. are spherical in form.” Which fallacy 1s committed in the above argument?

“HES F1 =Y § MR 291 9150 F6E Sas F A @ueAenE 97, 96 a8 960 08 @i merEn 7
I T H FA W aE o e 2
[Question ID = 982][Question Description = 127_00_General_15_SEPT22_Q27]
1. Begging the Question
T T S

[Option ID = 3925]
2. Fallacy of Composition

[Option ID = 3926]
3. Fallacy of Accident

[Option ID = 3927]
4 Hasty Generalisation

[Option ID = 3928]

23) (Given below are two statements :

Statement T : In classical logie, the umversal proposition implies the truth of its
corresponding particular proposition.

Statement 1T :  Two propositions that cannot both be true and cannot both be false are
called contraries.

In the light of the above statements. choose the correct answer from the options given helow :

fAT e

FH 1 OHE T AR, AEEE ah-aeE 5 9 559 [ qh A A S w

=
I

i) ) -, I [ o i . i, g .
T FYA R AR H, A9 150 T TSR 0 H HEE ST 3 R 99 S

[Question ID = 983][Question Description = 128_00_General_15_SEPT22_Q28]
1. Both Statement I and Statement II are true

Fom [ 3w 1L 5 o0 &

[Option ID = 3929]



2. Both Statement I and Statement IT
Fam 1 310 [ 5F 990 2

[Option ID = 3930]

are false

3. Statement I1s true but Statement II 1s false

Fo 1599 2, =it 52 11 =5

[Option ID = 3931]

4. Btatement I 1= false but Statement IT 1s true

Fo | 797 7, A0 FoA L7 7
[Option ID = 3932]

24) Match List I with List II :

Tast I
{Type of Inference)

{A)  Sartha anumana
(B} Pararth anumana
(C)  Eevalanvayl anumana

(D) Kevalavyvatireki anumana

Li=t IT
{Description)

(I Nddle term 1s alwavs and onlv negatively

related to the Major term.

(II) The terms agree only 1n presence. there being no

instance of their agreement in ahsence

(I} No formal statement of the different membera of

inference

(IV) Presented in language and has to be done only to

convince others

Choose the correct answer from the options given below :

T~ 1% =19 = g 1L foem fifam
o

(3TIHF 1 AFR)
(A) =n4E 3EE

(B) T FaET

(C) FacT{a: FHAH

(D) FaerAiaE ATAE

HI-1T
(Ta=mom)
(I) &% 93, W@ 9% | T5g 390 Fael SHEEE B9 H
HETEA 2
(II) 9% Fae S9EAE § 957 79 7, uH] %5 290 72
2 W 9 AR § weE |
(IIT) =F"F 5 199 AoE] 1 H1E S =E1s faavm 564
(IV) 9T § Wega =61 & #i Fae 991 % B4 & o,

o )

9 oo o e B T T = S A

[Question ID = 984][Question Description = 129_00_General_15_SEPT22_Q29]

T (AT, (Bi~D), (C)-(IIL). (D)-(IV)

[Option ID = 3933]
2. (A)ITD). (B)-(IV), (C)-(T). (D)-(IT)

[Option ID = 3934]

3. (AT, (B)-(IN). (C)-(II). (Dy-(T)
[Option ID = 3935]

4 (A)IV). (B)-(IID), (C)-(ID. (D))

[Option ID = 3936]



25) Whach of the following are essential characteristics of the middle term according to classical
Indian Logicians:

(A) It must be present in minor term

B It must be present in all positive instances in which the major term is present.
(Ch It must be absent in all nezative instances In which the major term 1s absent.
(D) It must be in compatiable with the minor term.

Choose the correet answer from the options given below :
T WA TN F FFE 6 U% F FeieiEd A [ear - 2
(A) %% wY 9E A e A
(B) %% =9 WYl GohWirHS FAAA] ¥ SURAT 36vd 7 THAE g s S A
(©) ===t TEmeE et 8 e aa o s v v s

(D) =7 7 9% F T s S A

Tau T fapeTl 9§ 9F 390 F 99 RiAv

[Question ID = 985][Question Description = 130_00_General_15_SEPT22_Q30]
. A BOnly
Fa5 A, B
[Option ID = 3937]
2. B, COnly
Fa9 B, C

[Option ID = 3938]
3. A B.C Only

FaAA.B. C

[Option ID = 3939]
4. A B.C.D Only

ABCD

[Option ID = 3940]

26)  Which of the following best describes a computer worm?

Tt 3 o St Fo T Foger 2 T A & =0 e 27
[Question ID = 986][Question Description = 131_00_General_15_SEPT22_Q31]
1. Malware that does not replicate 1tgelf but spreads through social engineering.

[Option ID = 3941]
2. Malware that replicates by attaching itself to a word processing document,

T, A T A4S WEHE ToE 69 A O F A 49T F 2|

[Option ID = 3942]



3. Malware that replicates by attaching itself to an executahle programme.

Tieaat, 1 T Saied G 0 ST SR S F AR o w2
[Option ID = 3943]

4. Malware that replicates itself as stand alone software.
T, H - A F E W S S T a9 e A

[Option ID = 3944]

27)  Which IT project in India is the main provider of ICT infrastructure for creating a knowledge

society with the aim to ushering in a knowledge revolution in the country?

TH=tleitEn B | FiAE 5.4 9igre 5u F 3 F009 F gE9E 6 3599 § TR 5 - S S99 F
& 10 A% 5.5, S g TEE
[Question ID = 987][Question Description = 132_00_General_15_SEPT22_Q32]
. NEN
T L,
[Option ID = 3945]
2. UIDAI
7,318 S0 TS,
[Option ID = 3946]
3. National Informatics Network
-\.J.I:f"rr:’."'r

[Option ID = 3947]
4. Megh Raj (GI Cloud)

T (.. e

[Option ID = 3948]

28) Amar’s college uses a form to collect data from new students. The data 1s used to create
information that can be used by the college. Which of the following statements are true about

information?

(A) Information iz raw facts and figures that have not been given a meaning.
(B) Information can be produced by processing raw data.

() Information iz automatically encrypted when it 1s produced.

() Information is raw facts and figures that have been given a context.

Choose the correct answer from the options ziven below



T ] TR AT A 221 T T 0 U 0 R S FA 2| G A F e s
ol

AR AT ST 2, THEET R 39EF W GEAT 7| FEeiEs § 8 i w0 gEa & 96§
i

(&) T A Ao A S A w E, T e a9g o
(B)  FUNeFRa 321 % THEE % GR1 g A1 W Al 2

(C) = FoAT 7S Sl 7 Al 97 99 I e 7 e 2

(D) e st Al s S A A 2, e v aed fomn v 2

fon T fFFeal 5 8 H9E 3 W =99 i

[Question ID = 988][Question Description = 133_00_General_15_SEPT22_Q33]
1. Agnd C Only

Fae A #HE C
[Option ID = 3949]

2. A and B Only
FaA A G7 B

[Option ID = 3950]
3 BandD Only

a9 B #0 D

[Option ID = 3951]
4. Cand D Only

a5 C 77 D

[Option ID = 3952]

29)  Identify the correct ascending order of the following numbers under A.D represented in

different bazes:

{A) (11101011)2 (Base — 2 binary number)
(B) {564z (Base — 8 Octal number)

(0 {614)10 (Baze — 10 decimal number)

(D) (489)15 (Base — 16 hexadecimal number)

Chaese the eorrect answer from the options given below :

Tata= s § A-D F 3 JaHe 50 FeteiEs T F Ge anE 5 5 9eae i
(&) (11101011)> [smem-2 Tgemyr e

(B)  (584)s [snav-§ oae] @]

(€) (614 [39F- 10 Toea T

(D) (4809)16 [#T97 - 16 TZAEHAa T

U U ke B H HEl 3 B =EE i

[Question ID = 989][Question Description = 134_00_General_15_SEPT22_Q34]
. ACDB

[Option ID = 3953]
2 D.C.B.A



[Option ID = 3954]
3. B.C.AD

[Option ID = 3955]
4 ABCD

[Option ID = 3956]

30) Consider the following spreadsheet:

A|lB | C
1| 4 3
2168 | 2
3| 7
4 | 8 9
5| 9
6

If the formula = 3A3 + B2 in cell (4 1= copied to cell C5, then what is the value in ¢ell C37

AR FIEeE W EET i

C

b | oo |

0 | G0 | = @ e |

L ) R Y S Tl S

aiT Fe (Fiaw) B4 8 g7 = 3A3 + B2 1 e His # wfartq B 9 2 9 @ Hi5 F 99 (35g) F=
=Y

[Question ID = 990][Question Description = 135_00_General_15_SEPT22_Q35]
1. o]

[Option ID = 3957]
2. 8

[Option ID = 3958]
3. 17

[Option ID = 3959]
4. 16

[Option ID = 3960]
31)

Which of the following pesticides iz expected to persist in the environment for longer perlod as
compared to others?

= AT e f qee 8 et A G F S 8 sieE g6a  F 51 w5 6
HYTAT w2 7

[Question ID = 991][Question Description = 136_00_General_15_SEPT22_Q36]
1. Dieldiin

-
sizlleg

[Option ID = 3961]
2. Parathion



[Option ID = 3962]
3. Malathion

:= I .'ﬂ'l_'T{

[Option ID = 3963]
4. Carbarvl

fr

E L L

[Option ID = 3964]

32)  Arrange the following terms chronologically according to the time these were first introduced.

(A) Principle of common but differentiated responsibility.
(B) Sustainable Development
(C)  Nationally Determined Contributions

(D) Clean Development Mechanism

Choose the correet answer from the options given helow :

L e ot e T i e e el 2 e B e P 2 o e e o) o L e

(A) TEn Wy A9Ed TEe = EA
(By @ad =wm

(C) T8 AT W EETEE I

(D) == T wE-EE

fon T et § 0 TR I W =9 i

[Question ID = 992][Question Description = 137_00_General_15_SEPT22_Q37]
. ABCD

[Option ID = 3965]
2. B.ACD

[Option ID = 3966]
3. BADC

[Option ID = 3967]
4. A B D C

[Option ID = 3968]

33) Identify the nuclear disasters among the following:

(A) Love cannal
(B) Fukushima
(C)  Kyshtym
(D) Chernobyl

Choose the most appropriate answer from the options given below :



FretetEs © afaE s Fl 9m e 5

(A) = FEE
(B) I
(Cy  TiEm
(D)  =ATE

fzu o faehedi © B |A = = A

[Question ID = 993][Question Description = 138_00_General_15_SEPT22_Q38]
1. A Band C Only

A A BER C
[Option ID = 3969]

2. B.CandD Onl
Fa9 B, C #r D
[Option ID = 3970]

3 A BandD Only

FaFA A, B#E D
[Option ID = 3971]

4. D Only

#Fae D

[Option ID = 3972]

34)  Mlateh List T with List IT -

ListI Tist IT
(A) Pathogens (I+  Thorium
(B) Inorgamie Chemicalz (II) Plasties
(C) Organic Chemicals (IIT} Bacteria
(D) Radicactive Meterial (IV) Heavv Metals

Choose the correct answer from the options given helow :

T~ 1% A1y =1 70— 11 foemm shifee

=1 =110
(A) = Iy =ifeEs

(B) st mEm (D) s
(C) FET T (IIL) =i
(D) ifEmfEm amdi (V) 9l gEe
Hi= fou v fawear @ 1 A 39 = =g Firav
[Question ID = 994][Question Description = 139_00_General_15_SEPT22_Q39]
1. (A)-(I). (B)-(ID), (C)-(III), (DI1-(IV)

[Option ID = 3973]
2. (A)(II). (B)-(OV). (C)-(IID). (D)-(I)



[Option ID = 3974]
3 (AVAIID. (BRIV). (C)-(I), (D)-(IT)

[Option ID = 3975]
4. (A)-(IID. (By-(IV). (C)-(IL). (D)~(D)

[Option ID = 3976]

35) Given below are two statements : One is lahelled as Assertion A and the other is lahelled as

Heason R.

Assertion (A):  Energy of most cveclones dissipates fast after landfall.

Reazons (R) : Surface roughness of land areas i= higher than that of ceeans,
In the light of the above statements. choose the most appropriate answer from the options

given helow :

=t f F9A oo T ;v e (Assertion (A)) % =9 ° TEEA £ 91 5E0 796 FEW (Reasons (R))

FETH :

A (A) 2 e e e e 2 e e o e et e
FF (R) AT T HART WA WEET i SA9E SF A R

A FAA F A A, A9 0 T T A 8 OeE I 3 6 wE e

[Question ID = 995][Question Description = 140_00_General_15_SEPT22_Q40]
1. Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(A) 37 (R) 5/1 =51 7 &1 (B). (A) =i 981 == 7

[Option ID = 3977]
2. Both (A)and (R) are true but (R) iz NOT the correct explanation of (4)

(A) #T (R) 51 503 = =103 (R). (A) 1 a1 =3msg1 747 =
[Option ID = 3978]

3. {A)is correct but (R) 1s not correct
(A) 72 2 @ (R) w8 99 2

[Option ID = 3979]
4. {A) 1z not correet but (R) is correct

(A) @8t 5 & =i (R) 571 2

[Option ID = 3980]



36) Given below are two statements :

Statement T : IKotham Commission recommended a natlonal system of educaction

hazed on structure of 10+2+3,

Statement II : National Enowledze Commission was constituted in June 2005 by the

eastwhile Prime Minister Dy, Manmochan Singh,

In the light of the above statements. choose the correct answer from the options given below :

= A e mEom R

i 1

T 11 :

FrET AEE T 10+2+3 F = W e e e T # m@emm A

S 2005 T SRR TGH T ST TN (5 A TEE T S 5 TS A g

SO YA F AEIE , A 150 0 ) § H T 3 9 =ET R

[Question ID = 996][Question Description = 141_00_General_15_SEPT22_Q41]
1. Both Statement I and Statement IT are true

e [ # [l o =03 =

[Option ID = 3981]

Both Statement I and Statement II are false

T2 [ 3w =[] s 7

[Option ID = 3982]

Statement [ 1s true but Statement 11 is falzse

F— 5
o 1943 7, @A ®ae 11 590 7

[Option ID = 3983]

Statement I 1= false but Statement IT is true

[Option ID = 3984]

37) Who among the following were prominent women vedic scholors?

(A)
(B)
(C)
(I
(E)

MMaitrevi
Viswambhara
Apala

Gargi
Lopamudra

Choose the correct answer from the options given helow :



a3 9 BH F51 Fi1 T qiEe =g 4

(&)
(B)
(C)
(D)
(D)

2w U Taeeal O H HE 3T S =9 R

[Question ID = 997][Question Description = 142_00_General_15_SEPT22_Q42]

1. A D.E Only
Fa9 A D. E
[Option ID = 3985]

2. A C.D Only
Fa5 A C.D

[Option ID = 3986]
3. A C.D.EOnly

Fa9A C.D. E

[Option ID = 3987]
4 ABCDE

ABCDE
[Option ID = 3988]

38)

The cbjectives of All India Council of Technical Education (AICTE) arve:

(A)
(B
()
(D)
(E)

Promotion of gquality in technical education

Funding salary of teachers in engineering colleges.

Flanning and coordinating development of technical education system.
Promoting continuous and open learning in technical education

Regulation and mamtenance of norms and standards

Choose the correct answer from the options given helow :

HATG AAE AR e g (TR ) e Bt

(A)
{B)
()
(D
(E)

AT FEA] B AT aad w5 e

FEATR 5T § WA ST G ATSTE AT o

fou T T § O OF 39 W 99 A

[Question ID = 998][Question Description = 143_00_General_15_SEPT22_Q43]
" A D EOnly



#a4 A. D. E

[Option ID = 3989]

2 A B.EOnly
Fa9 A B.E
[Option ID = 3990]
3. A C.EOnly
Fa9A.C. E
[Option ID = 3991]
4. A C.DOnly
FaAAC.D
[Option ID = 3992]
39)
Given helow are two statements :
Statement [ :  National Education Policy 2020 recommends abolition of the system of
affiliation of eolleges 1n higher education system.
Statement IT ; National Education Policy 2020 recommends strengthening and
empowering the Central Advisory Board of Education (CABE),
In the light of the above statements. choose the correct answer from the options given below :
FoH [ T e A 2020, ° I 1900 UOE] 3 SEEETeE] S el Tl 5EE A a9
e IL: g o 5 2020 8 F=r e garsn a2 (H10EE) 6 596 6410 39F HEerE
1 s A

I YA F AETE °, T 50 T T 5 F e 3 1 999 i

[Question ID = 999][Question Description = 144_00_General_15_SEPT22_Q44]

1.

4.

Both Statement I and Statement I1 are true

Foq I em o9 3

[Option ID = 3993]
Both Statement I and Statement II are false

Fo9 1 31w Il 5[l 3959 7

[Option ID = 3994]

Statement [ 1s true but Statement II is false
Fo [ @eg 2, 9 F49 11 350 2

[Option ID = 3995]

Statement I is false but Statement 11 1s true



[Option ID = 3996]

40) Given helow are two statements

StatementI : Understanding the concept of sustainable development 1s the pre-requisite
for developing the values needed for it

Statement IT : Sustainable development iz defined as development that meets the needs of
the present generation withoui compromising the ahility of future
generations to meet their own need.

In the Licht of the above statements. choose the correet answer from the options given below :
EiE] ?:J EZL %ﬁ mE
FoF 1:  WAd FFE 9 92 T F BEE F 0 OEs T F SauannenE 5y =0 7

FoA 11 &Fa A 1 36 W % =0 H ST e 2, S 9 S s g
Torm h1 men @ maEiar o AT 3dEE SR # S g e 2

T FUT T SR 5, 369 50 T gweul § 5 WA 3 6 5 Fa

[Question ID = 1000][Question Description = 145_00_General_15_SEPT22_Q45]
1. Both Statement I and Statement II are true

[Option ID = 3997]
2. Both Statement I and Statenient II are false

o 1 4 ILoF] 99 7

[Option ID = 3998]
3. Statement I is true but Statement IT is false

w9 1o 2, =194 %99 11 594 ¢

[Option ID = 3999]
4. Statement I is falze but Statement IT 1= tige

Fo 1 3759 &, =9 T4 L9 7

[Option ID = 4000]

Topic:- GP_22SEPT22_SH2_S1_PartC



1)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,

T=ATeTge T T qiRv # UeH W 46-50 F I -

wFE, M | wada =+ fow v wedm gee it i = e 2, ﬁﬂﬁ—v{mé-—lﬁ%ﬂﬁia%r
TR S, S S Haig @R TgA 0 9rEE H0 2| TF UH A 95 SA1GE e =
e Ao, 7T, =4 32, AN SE, §E0E 3 S69E el w9 iieE e atgten 2, A
=E TH AEF-TEH W FEA 5 T A0 SEvaE 7 S G99 v Sis Tt 59 5 36 TR 6
e, |l A w MHWWWW aﬂrrﬁ??rﬁr TEAEE = TA e, WA, il
A T AmTEE SEETEAT 0 AFIGE TR GNYEEE R d EE A WO T R
Fa 1 AN T Hq_lﬁ ST = F TeEEd 5 dFAl 2

T 9, qin A0 HEF1 UH (=Eredl 1 HE G0 TEtEE A w1 2, JEE s Sl §os
St 2, FIEA W F = S@ 31 2. S0 St S  eens W A e 8 A e
% A I% A FAT WA ¢ OF AUAata B S 5 Wl 2| AT, SaE w9l § e |
T A -TTerR 7 TR i 39 39 T § Haw wH 8 A R wEveEE) 2 AR 9 9oy F
mww{mﬁﬂnmwm?wﬁmwwww*mmw'ma?ﬂ? o= e
=9 H | AH A A 8, T 7 wE 2 R U et s 7 ST £ 1 el HilaE e
THAE T T e A 0 w| G mme v F i a9 A= = 0 O UH A 965 e, A
Fae A H T TR 7, W% HAIHEEEl TS JEE § e e Tt e 7 2

The Government's policy for economic progress should include

o112 L o= = i e 3 1 o e 2 1 T i) e [ A

[Question ID = 1001][Question Description = 146_00_General_15_SEPT22_Q46]

1.

2.

Coercing people to pay taxes.

[Option ID = 4001]
Develoopraent of physical infrastructure.

[Option ID = 4002]



3.

4.

2)

Control of trade.

[Option ID = 4003]

Withdrawal firom Social Sector,

AEAF A9 H 5

[Option ID = 4004]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchangze: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,

=TT T F T AR TR W 4650 F I S

i, fm § wada =+ fow v s weeay A w0 e = w2, e S gt e W
Wwwmmnﬁmﬂwnwmﬂlwmﬂﬁmﬂ?aﬂﬂmmﬂa
THam wos, TV, B WS, SHNEN SR, §T0TE 3 HAE S A9l Wi @ A 2, A
=F T AEF-TEA H FEA 51 T A0 SEeaE 7 ST G99 v Ois Tt S 5 36 TR 6
TEG, A SN H HEET @ WAE U e R aEi o0 2| g = v e, WA, wEd
AR T AR SEETEAT ) AFGE W TR NEEE W aF A W e R

=74 1 AN T Tl 1 =R F TieEied 7 gEal 2

=it 2, FIEA F A F A A I 2, S S v A S WO w6 1A 1w
7 T AR FEAA FAl WA £ SAUSAEET e 7 W | SR, SGE 5 B e |
S A=A o e 1 S I9IGT OEA § gaW S 8 FE9 F SEeasa) 2 | 9 5e &
I A AN A Aed 3, e 96 @ 2 o st HIJGM_’H*—EbﬂI;{—#TJH.NH‘}mTqQﬂU
TAHE T W e qE1 1 AT A A 64 T i geaEgnt SEyEE =9 4 HE UH 9 A6 2, A
FaH 99 F A TR 7, S HAHEEAl TE JETE § WO o 09 0o e e A

Invesztment in Soclal infrastructure will enable people to hecome

AHNAF FIHEATH HE9 ST B = S A S ¢



[Question ID = 1002][Question Description = 147_00_General_15_SEPT22_Q47]
1. Aetive investors

2.

3.

4.

3)

[Option ID = 4005]

Socially controlled

AETEF ®9 # A0S

[Option ID = 4006]

Economically productive

HMdF =0 H ST

[Option ID = 4007]

Conscious of Government Commitment.

[Option ID = 4008]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities. ports. and the like. which are necessary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,



Tl T i gien, S A W 46-50 I A
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To ensure economic development. the government should provide

[Question ID = 1003][Question Description = 148_00_General_15_SEPT22_Q48]

1.

2.

3.

4.

Security to property
Togte = g

[Option ID = 4009]
Opportunity to =ell property

[Option ID = 4010]
Help for factory owners to secure property.

[Option ID = 4011]
Scope to take the right to property for granted.

[Option ID = 4012]



4)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,

T=ATeTge T T qiRv # UeH W 46-50 F I -
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Fae A H T TR 7, W% HAIHEEEl TS JEE § e e Tt e 7 2

Protection to private property will benefit

=0 w1 T H e e

[Question ID = 1004][Question Description = 149_00_General_15_SEPT22_Q49]

1.

2.

3.

The Government

[Option ID = 4013]
The factory ewners only

[Option ID = 4014]
The rich people only



AT G =

[Option ID = 4015]

4. The poor farmers also

5)

# .-F - ﬂ:[

[Option ID = 4016]

Read the passage and answer questions from cuestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permat people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage srowth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to Invest in improving their ability to produce. and such improvements are unhikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,
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The paszage focuses on the need for

[Question ID = 1005][Question Description = 150_00_General_15_SEPT22_Q50]
1.

Support to the factory owners



[Option ID = 4017]
Securing property rights of farmers

[Option ID = 4018]
Government investment 1n infrastructure development
T F FEm 8wl fEw

[Option ID = 4019]
Price control

ue (e

[Option ID = 4020]






